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The following table shows the number of Mobile Phones sold by five different sellers. A-E on seven different days
(Monday to Sunday) in a week. Based on the data in the table, answer the questions.

Seller-wise Sale of Mobile Phones

Number of Mobile Phones sold on
M Monday [Tuesday |Wednesday [Thursday [Friday|Saturday (Sunday
A 80 90 96 56 100 |48 40
B 180 184 34 24 32 196 32
C 160 72 60 26 56 124 o4
D 120 92 24 128 104 |68 152
E 26 36 116 138 140 |20 30

Frafafas oiftrer & 5 wwre & 919 fus A (Fraar & en) & o fas Rfasif A - e g 3 T Aesa vE ot
T Ueiiia $t 7S &1 ArfereT & faw Y sifwst ux syt wt & Iww difvre

faehal - IR Aldsd B & @t

- o9 U HEEd BiE B S8
AR | AR | §¥aR | FaR | AR | IHaR |IdaR
A 80 90 9% 56 100 48 40
B 180 184 54 24 32 196 52
C 160 72 60 26 56 124 94
D 120 92 24 128 | 104 63 152
E 96 36 116 | 138 | 140 20 30

What is the difference between the number of Mobile Phones sold by A and C together on Monday and that of D and E
together on Wednesday?

1.120
2.100
3.160
4. 40

(1) 1
(2) 2
3) 3
(4) 4

AR DI A 3R C DI TP Iy [HedR 99 7Y AlEgd B & 981 R 99aR @I D AR £ B Ud Uy Bed: od 1 Jldgad
BiH $ T&H & 99 AR a8 2

1.120
2.100
3. 160
4. 40
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3) 3
(4) 4

1[Option ID=45501]
2[Option ID=45502]
3[Option ID=45503]
4[Option ID=45504]

Question Description : dwbv_pg_gp30_eng_2_q1

Sl. No.2

QBID:30201002

The following table shows the number of Mobile Phones sold by five different sellers. A-E on seven different days
(Monday to Sunday) in a week. Based on the data in the table, answer the questions.

Seller-wise Sale of Mobile Phones

Number of Mobile Phones sold on
R Monday [Tuesday |Wednesday [Thursday |Friday|Saturday |Sunday
A 80 90 96 56 100 |48 40
B 180 184 54 24 32 196 52
C 160 72 60 26 56 124 94
D 120 92 24 128 104 |68 152
E 96 36 116 138 140 |20 30

Frafafae ot & et awre o 9 i G (@R 9 eear) 9 e fis s A - E g1 o9 T Jesda 6F &t
TET ueiRia $1 7 8| arfereT & 2w M sifeet W ety ust % 3w Sifere :

fGond - 9R A9 Bl & [&®!

- EERINE I CIER T K Reted|
AR | HTEaR |§YaR | FaR | XHaR | WHaR |fdER
A g0 %0 9% 56 100 48 40
B 180 184 54 24 32 196 52
C 160 72 60 26 56 124 94
D 120 92 24 | 128 | 104 63 152
E 96 6 116 | 138 | 140 20 30

The number of Mobile Phones sold by B on Tuesday and Saturday together is

Phones sold by C on Thursday and Sunday together.

1.162.33
2.262.67
3.216.67
4.102.67

(1)
(2)
(3)
(4)

A W N =

AR R YHAR $I Us G fEea) B §R1 &d T Jid3d BiF &1 98 EdR AR IGaR I Us 91y fBee ¢ gRIad T

Hasd BF o 98 ®1 ga-l 1 - Wiasd (%) HEE & 7

1.162.33
2.262.67
3.216.67
4.102.67

(1) 1
(2) 2
3) 3

% more than the number of Mobile




(4) 4

1[Option ID=45505] Question Description : dwbv_pg_gp30_eng_2_q2
2[Option ID=45506]
3[Option ID=45507]
4[Option ID=45508]

Sl. No.3
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The following table shows the number of Mobile Phones sold by five different sellers. A-E on seven different days
(Monday to Sunday) in a week. Based on the data in the table, answer the questions.

Seller-wise Sale of Mobile Phones

Number of Mabile Phones sold on
e Monday |Tuesday |Wednesday [Thursday [Friday|Saturday (Sunday
A 80 90 96 56 100 |48 40
B 180 184 54 24 32 196 S5
& 160 72 60 26 56 124 94
D 120 92 24 128 104 |68 152
E %6 36 116 138 140 |20 30

Fafalaa ot & et awre o 9 g G (@R 9§ IEeR) o e fias e A - E g1 o9 T Jeasa oF ot
HET ueiiid #1 7 81 arferer A 3w 7 sifeet W emuiyd ust & I difvie :

Gord! - OR AIERd Bl ® [@®!

- EERIE CIENR AR EiE |

AR | AR |§9aR | TFaR | REFAR | WHER |fEER

A 80 g0 96 56 100 48 40

B 180 184 54 24 32 196 52

C 160 72 60 26 56 124 94

D 120 92 24 128 104 68 152

E 96 36 116 138 140 20 30

The number of Mobile Phones sold by A and D together on Wednesday is % of the number of Mobile Phones sold

by E on Sunday.

1.400
2.200
3.100
4. 50

(1)
(2)
(3)
(4)

FYAR Bl A 3R D ERT IS Y TR od T Hiasd BiH & 91 AdaR &I £ gRI ad T HE5d B S 3§31 &I fdba-l
U= d & ?

A W N =

1.400
2.200
3. 100
4. 50

(1)
(2)
(3)
(4)

A W N =




1[Option ID=45509] Question Description : dwbv_pg_gp30_eng_2_q3
2[Option ID=45510]
3[Option ID=45511]
4[Option ID=45512]

Sl. No.4
QBID:30201004

The following table shows the number of Mobile Phones sold by five different sellers. A-E on seven different days
(Monday to Sunday) in a week. Based on the data in the table, answer the questions.

Seller-wise Sale of Mobile Phones

Mumber of Mobile Phones sold on
A Monday |Tuesday |Wednesday [Thursday [Friday|Saturday Sunday
A 80 90 96 56 100 |48 40
B 180 184 54 24 32 196 52
C 160 72 60 26 56 124 94
D 120 92 24 128 104 |68 152
E %6 36 116 138 140 |20 30

FrafafaT oiftreT & 5 wwre & w9 fis 1 (@er & fEER) & v fis fGtsarsit A - e §R1 39 @ Jega vE ot
HE ueiid $1 ¥ 81 arferer A fAu T sifest W Sty ust % IR difwe :

faepal - IR AlEsd B B [§w!

- EERIE CIENR AR EiE |
YHaR | AR |§YaR | FaR | EHaR | WHER |MEER
A 20 %0 % 56 100 43 40
B 180 184 54 24 32 196 | 52
C 160 72 60 26 56 124 | 94
D 120 %2 24 | 128 | 104 63 152
E 96 36 116 | 138 | 140 20 30

What is the average of the sale of Mobile Phones by B on Wednesday, E on Sunday, and D on Monday?

1.48
2.72
3.60
4.68

(1)
(2)
(3)
(4)

FYAR @ B, AGAR B £ IR UHAR &I D GRI B1 T3 AIGSA @1 [9eh! @1 Ad a8 ?

1.48
2.72
3.60
4. 68

A W N =

(1)
(2)
(3)
(4)

A W N =

1[Option ID=45513] Question Description : dwbv_pg_gp30_eng_2_q4
2[Option ID=45514]
3[Option ID=45515]
4[Option ID=45516]




Sl. No.5
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The following table shows the number of Mobile Phones sold by five different sellers. A-E on seven different days
(Monday to Sunday) in a week. Based on the data in the table, answer the questions.

Seller-wise Sale of Mobile Phones

Number of Mabile Phones sold on
e Monday |Tuesday |Wednesday [Thursday [Friday|Saturday Sunday
A 80 90 96 56 100 |48 40
B 180 184 54 24 32 196 52
C 160 72 60 26 56 124 94
D 120 92 24 128 104 |68 152
E 96 36 116 138 140 |20 30

Frafatas ofte & fF awre & a9 fus G (@er @ fEeR) & e fis st A - £ §R1 39 7 Jeea vE a1
H@ usiiia $1 7 &1 arfereT A faw g sifwst wx snurfya wet & I difve:

faehdl - IR AlESd B B &1

- EERE CIENR G EiE |
AR | AR |§9aR | FaR | REHAR | WFER [EER
A 20 %0 % 56 100 43 40
B 180 184 54 24 32 196 | 52
C 160 72 60 26 56 124 | 94
D 120 %2 24 | 128 | 104 63 152
E 96 36 116 | 138 | 140 20 30

The Mobile Phones sold by A on Thursday are of two types, that is, Windows Phone and Android Phone, in the ratio 3:4.
What is the number of Windows Phone sold by A on Thursday?

1.28
2.48
3.32
4. 24

1)1
(2) 2
3) 3
(4) 4

TEAR @ A §R1 &l WK & Aielsd Bi: [§8ie BF 3R US98 B, @ 3:4 & 30/ H o9 7471 T6dR ®I A §RI 8¢ T
e ®iF @ T fa-i & 7

1.28
2.48
3.32
4. 24

(1)
(2)
3)
(4)

A W N =

1[Option ID=45517] Question Description : dwbv_pg_gp30_eng_2_q5
2[Option ID=45518]
3[Option ID=45519]
4[Option ID=45520]

Sl. No.6
QBID:30201006




How a teacher should deal with students for maintaining effective descipline in the classroom?

1. Deal with the students very strictly.

2. Allow students to do what they want to do.

3. Complaint about them to the principal for creating indiscipline in the class.
4. Deal with them politely and firmly.

(1)
(2)
(3)
(4)

D& o qUTET SR §91 T+ & ol [l fRae of fGenfial O g Foeqr afge 2

1. faenfiiar & 91y Sgd 9% AaeR A

2. TGl &1 51 3 $A1 9164 & 94U B @I A WaH e

3. D&M H HTRHE FAl dXH & 107U 390 &R H W 4§ Riesmd &
4. faora1 Ud Tedl Ydd 34 SHGeR &l

A W N =

(1)
(2)
(3)
(4)

A W N =

1[Option ID=45521] Question Description : dwbv_pg_gp30_eng_2_q6
2[Option ID=45522]
3[Option ID=45523]
4[Option ID=45524]

Sl. No.7
QBID:30201007

Given below are two statements:

Statement I: Plateau is a period of no improvement in learning curve.

Statement II: In Plateau, the rate of learning first increases then decreases.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement |l are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4. Statement | is incorrect but Statement Il is correct.

(1) 1
(2) 2
(3) 3
(4) 4

@Y - | : wiel (R Ryt 98 @ fors o1t a6 § is gUR el el ol
YA - 1| - FRR RS (wieh) & 1fe™ &1 &2 Ugd 9edl @ b Uedi o
Suded Byl & AEe H FHufaRad fadmel § U 9g S|

1. YT 1 3R 11 ST EE B

2. BT | R 11 G e B

3. Y9 | Tel &, fooed @9 11 o B

4. %Y | 7194 &, g P 1| Tel o |

(1)
(2)
(3)
(4)

A W N =

1[Option ID=45525] Question Description : dwbv_pg_gp30_eng_2_q7




2[Option ID=45526]
3[Option ID=45527]
4[Option ID=45528]

Sl. No.8
QBID:30201008

Given below are two statements:

Statement I: In synchronous communication, interaction between teacher and student does not occur at the same instant of
time.

Statement II: In Asynchonous communication, interaction between teacher and student occurs at the same instant of time.
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true.

(1)1
(2) 2
(3) 3
(4) 4

TRadsERTmE:
TY - | geadiicrs Suvo H R vd faenfial & v sraimafema S & = B B
HY - 11 - A DIicicd GUTVT H g U4 faanfdal & Aey sRuainal 34l & gl 51
SUdad Yl & e | FHafiRed fdedl § 8 98 S A -

1. Y 1 3R 1| &H 9

2. BUF 1 3R 11 GHI 38 g

3. Y| 9 B, g &Y 1| A B
4. Y| HT R, g dYT 1 TT B

(1)
(2)
(3)
(4)

A W N =

1[Option ID=45529] Question Description : dwbv_pg_gp30_eng_2_q8
2[Option ID=45530]
3[Option ID=45531]
4[Option ID=45532]

Sl. No.9
QBID:30201009

Which of the following are the primary laws of learning?
A. Law of exercise

B. Law of partial activity

C. Law of readiness

D. Law of associative shifting

E. Law of effect

Choose the correct answer from the options given below:

1.A, B and D only
2. A, Cand E only
3.B, D and E only
4 A, B, CandD only

@ 1




) 2
3) 3
(4) 4

S & it For Aefafaa d e a e ?
A. 3T & 99

B. Hifare Tfdfafd &1 gy

C. el &l [

D. TEaRI RIHITRY & 59

E. WY1 &1 o8

4 fau T faeedl 7 § HEl IR g -
1. ®AAA, B HRD
2. %At A, C HRE

3. ®dd B, D AR E
4. Pad A, B, C 3R D

1) 1

(2) 2

3) 3

4) 4

1[Option ID=45533] Question Description : dwbv_pg_gp30_eng_2_q9
2[Option ID=45534]

3[Option ID=45535]
4[Option ID=45536]

Sl. No.10
QBID:30201010

Given below are two statements:

Statement I: Podcasts are digital audio or video files containing meaningful content.
Statement II: Blogs are personal websites that contain content like a Journal or diary.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1) 1
(2) 2
(3) 3
(4) 4

TR PERTmE:
Y - | : Ursmie, Srfar fawy avg § gud feforea yag (3iifea) a1 =g (fafsal) Bisd sl &
HY - || : I ATRRTD daUI3e ¢ foi-d oHd a1 SR ¥ 9ed g a5 gldl g
Sudad Sl & 3die H FrafiRad fdedl # 8 981 SR g -
1. BYA | 3R 11 1 9 B
2. Y 1 3R 11 GHT S A B

3. ®YF 1 9 §, o & 1 S B
4. @Y | IO B, oo Y 1 T B

@ 1
) 2
3) 3




(4) 4

1[Option ID=45537] Question Description : dwbv_pg_gp30_eng_2_q10
2[Option ID=45538]
3[Option ID=45539]
4[Option ID=45540]

Sl. No.11
QBID:30201011

Coding research participants into qualitative variables as male and female represents

1. The Thurstone scale
2. The Likert scale

3. The differential scale
4. The nominal scale

1) 1
) 2
3) 3
(4) 4

My BiaHITE! &1 59N 3R AR] & U H [UEdiR® R § Geds Bl Haiarad 3 4 feus! Feftd sarg ?

1. YL AT (F5a)
2. fo@d At (@a)
3. fgve® A foa)
4. T At (W)

11

(2) 2

(3) 3

4) 4

1[Option ID=45541] Question Description : dwbv_pg_gp30_eng_2_q11
2[Option ID=45542]
3[Option ID=45543]
4[Option ID=45544]

Sl. No.12
QBID:30201012

When observations are classified by social scientists into a system of categorisation, it needs

1. Conviction

2. Accuracy

3. Limited condtions
4. Hypotheses

(1) 1
(2) 2
(3) 3
(4) 4

O GHETSAGTI-EI ER1 U4 &1 S =01 B Udh WUl H a¥iidd (a1 <iTdl § df 39+ &l Sa=0d § ?

1.6 YR
2. QUTTT (Sl
3. it Ryt

4. UGB

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45545] Question Description : dwbv_pg_gp30_eng_2_q12
2[Option ID=45546]

3[Option ID=45547]
4[Option ID=45548]

Sl. No.13
QBID:30201013




When a fixed list of questions is administered to all the participants in the same order, it is known as

1. Summative interview

2. Structured interview

3. Formative interview

4. Fixed question interview

(1)
(2)
(3)
(4)

W Ul @1 U Fad Gl 99 % J 9l giayiial & < Sl g df 39 iy 9 3 9 9 @ 2

A W N =

1. HhoATHD TIETPR
2. T TETP R

3. fFeTTE® waTER
4. T30 WY TATBR

(1)
(2)
(3)
(4)

A W N =

1[Option ID=45549] Question Description : dwbv_pg_gp30_eng_2_q13
2[Option ID=45550]
3[Option ID=45551]
4[Option ID=45552]

Sl. No.14
QBID:30201014

Which of the following are experimental manipulations?
A. Environmental manipulation

B. Stimulus manipulation

C. Instructional manipulation

D. Planning manipulation

E. Decision manipulation

Choose the correct answer from the options given below:

1. A, Band Conly
2.B,Cand D only
3.C, DandE only
4. A, Dand Eonly

(1)
(2)
(3)
(4)

A W N =




Tfofad 39 ®F I TahTae SadvH ¢ 2
A. TIaRUTT oo

B. 3eIud Uaet Sadior

C. FCAHD B

D. e dad sagieH

. Fuia it BegieH

i fau T faded! 7 © HEl IR g -
1. Bad A, B AR C
2.®dd B, C AR D

3. %A C, D ANE
4. Had A DIARE

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45553] Question Description : dwbv_pg_gp30_eng_2_q14
2[Option ID=45554]

3[Option ID=45555]
4[Option ID=45556]

Sl. No.15
QBID:30201015

Given below are two statements:

Statement I: The conceptual variable to be converted into a scientifically researchable variable involves redefining the
abstraction of a conceptual variable into an empirical one.

Statement II: Clear and detailed procedures and instruments to make the actual observations should be specified so that
other researchers/scientists do not duplicate the observations.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement |l are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1) 1
(2) 2
(3) 3
(4) 4

BEFEREAARILEE

@Y - | : Udh dqd &0 4 QARG @) H FUIARd 8H ald HIURUTEAS @R H Uh HAHES &R H U6 HaURITHS =R &
HOdA &1 TRV &A1 gt 2

HU - || : RIS U&0T Bl I & o8 p iR fawgd usfaal wd anesl &1 Ay o s a1igy aife o il 9
P I U&oT BT Sy = S|
U Byl & e o Fofifed s # 3 9 S -

1. BT | AR 11 EH G B

2. @Y | AR 11 GHl ST & |

3. @Y | 9 &, fog &Y 11 S B
4. T | IO B, g Y 1 T B

@ 1
(2) 2




3) 3
4) 4

1[Option ID=45557] Question Description : dwbv_pg_gp30_eng_2_q15
2[Option ID=45558]
3[Option ID=45559]
4[Option ID=45560]

Sl. No.16
QBID:30201016

The digital technology is the factor responsible for the emergence of

1. Mass media culture

2. Inter-active media culture
3. Impersonal media culture
4. Personal media culture

1) 1
(2) 2
(3) 3
(4) 4

fofeiad & @ frgs Hfavla & fo fEfed Meife! & e Saedi & 7
1. O TR A\ Hirean) Teid

2. Safdurard Hifsar Tia
3. Jdagiaae Hifear Ywia
4. Jgfdae Hifsar 95

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45561] Question Description : dwbv_pg_gp30_eng_2_q16
2[Option ID=45562]

3[Option ID=45563]
4[Option ID=45564]

Sl. No.17
QBID:30201017

The space bias in communication is related to

1. Oral medium
2. Traditional medium
3. Broadcast medium
4. Print medium

1)1
(2) 2
(3) 3
(4) 4

IO & R - gaie fad gefa @

1. Hifa® A1
2. URTNS Ty
3. TR0 H1Eq
4. 50 HIEGH

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45565] Question Description : dwbv_pg_gp30_eng_2_q17
2[Option ID=45566]

3[Option ID=45567]
4[Option ID=45568]




Sl. No.18
QBID:30201018

Which of the following are to be carefully observed and followed while writing?
A. Long introduction

B. Abrupt end

C. Relevant content

D. Correct syntax

E. Diction and punctuation marks.

Choose the correct answer from the options given below:

1.A Band Conly
2.B,Cand D only
3.C,Dand Eonly
4. A Cand Eonly

(1)1
(2) 2
(3) 3
(4) 4

e ®ed gug Fafaied & 9 e araurigde dam iR o fea S g ¢
A, el URdTET
B. D 3fd
C. Ui favgas]
D. He! a1 - faurd
E. TG - 947 ([5a9H) 3R fRmIe gy
i<l feu U fgedl 7 § Hel I I -
1. BAAA, B 3R C
2. %4t B, C AR D

3.®dd C, DIRE
4. Had A, CIRE

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=45569] Question Description : dwbv_pg_gp30_eng_2_q18
2[Option ID=45570]

3[Option ID=45571]
4[Option ID=45572]

Sl. No.19
QBID:30201019




Given below are two statements:

Statement |: The difference between hot and cool media is measured in terms of volumes of information.
Statement II: Virtual reality did not exist at the time of making this distinction between hot and cool media.
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement |l are true.
2. Both Statement | and Statement |l are false.
3. Statement | is true but Statement Il is false,
4. Statement | is false but Statement Il is true.

(1)
(2)
(3)
(4)

A W N =

EIEEAEIE SR R
T - | : Sl R IR-NR 8Te U o) Hizar & &9 @ & gga i & de & 7 e 2
TUA - 1| : ATHIE TS 1 Iawid iR FR-1HR Hifsar & o9 e sd wag offiaa 81 Ul
Sued Byl & SHad H FEiaRad el H 4 68l 3 g -

1. Y | 3R 1| &H 9

2. BYF 1 3R 11 GHI 3Ed g

3. Y| 9 8, g &9 1| A B
4. Y| HT R, g dYT 1 TT B

1)
(2)
(3)
(4)

A W N =

1[Option ID=45573] Question Description : dwbv_pg_gp30_eng_2_q19
2[Option ID=45574]
3[Option ID=45575]
4[Option ID=45576]

Sl. No.20
QBID:30201020

Given below are two statements:

Statement I: It is said that content of one medium itself is another medium.

Statement II: Just like the written word is content in print, the content of writing can also be called as speech.
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement |l is false.
4. Statement | is false but Statement Il is true.

1)
(2)
(3)
(4)

A W N =




EIERAGRIE ARl E
@Y - | : T8 Bl IIdl & [oh U HIegH &1 [Augawg HU- H10H =] 71w B
B - 11 - 57 R i ee, Hav # fawgdwg 2, 34 oRe O @1 favaasg o aip (&i9) of &1 o a2
Iudad YAl & sl H Fafdiad el 4 8 98 I g -
1. YA | 3R 1l GHI T
2. Y1 3R 11 GHT ST B

3. BYF 1 9T &, foeg T 1 ST B
4. Y| 3T B, g ®YF 1 Ta B

(1) 1

2) 2

(3) 3

(4) 4

1[Option ID=45577] Question Description : dwbv_pg_gp30_eng_2_q20
2[Option ID=45578]

3[Option ID=45579]
4[Option ID=45580]

Sl. No.21
QBID:30201021

A four directional pole, has been erected at a crossroad, with arrows pointing towards four directions East, West, North and
South. The pole got little damaged due to certain reason. Beacause of the damage, the North pointer of the pole is now
pointing towards East and like wise other pointers have also shifted. A man desiring to go towards West takes the help of
this pole and starts moving West as per pointers of the pole. In which directions is the man actually moving?

1. West
2. South
3. East

4. North

1) 1
(2) 2
(3) 3
(4) 4

% OR @ G9T 9Re | @eT fvar ma & foRm o IR Od, ufdm, IR T e fRxnsii @ 3R o #x e o) fdt
TRUGR] THI 4TS &TaU%d Bl TR &/ & R 30 (GRN &1 Ydbdd Ha 4 (G- DI 3R Jovd B 161 & 3R 36 WhR 3=
Ucbd i 9ad U § | UEH &1 3R O &1 3@ oidd 39 W™ &1 Heidl odl ¢ 3R €Y & Ybdd HIHR UHH &1 3R ge-1
3R B ST 2| 9 Afdd aRad & [y R H 9a @I & 2

1. T18H
2. GI&mT
.74

4.39dY

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45581] Question Description : dwbv_pg_gp30_eng_2_q21
2[Option ID=45582]

3[Option ID=45583]
4[Option ID=45584]

Sl. No.22
QBID:30201022




How many prime numbers exist between 20 and 60 and what is the average of these prime numbers?

1.7, 41.5
2.9,40.33
3.8,395
4.10,42.33

1)1

(2) 2

3) 3

(4) 4

209 60 & 81 fran HHT =T & 3R 3 4Tod TEI &l Sad dr e ¢

1.7, 41.5
2.9,40.33
3.8,395
4.10,42.33

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45585] Question Description : dwbv_pg_gp30_eng_2_q22
2[Option ID=45586]
3[Option ID=45587]
4[Option ID=45588]

Sl. No.23
QBID:30201023

The average age of seven members of a family is 35 years. If one of the members whose age is 35 years is not included,
then the age of other six family members is in the ratio of 1:2:3:4:5:6. Find the age of the eldest member of the family.

1. 60 years
2. 65 years
3. 61 years
4. 58 years

11
(2) 2
3) 3
(4) 4

TP URGR & A1 9ol $I SAd 31 35 94 ¢ Ufe U o, o] o1y 35 9u &, 39 Qisfed A o1 9y, df o= 98
Yol Bl TG BT UM 1:2:3:4:5:6 5FN1 URAR & Tad G5 T&W B 1 $1 Ul T4 -

1. 60 T
2.6538
36134
4.58 98

1) 1

(2) 2

3) 3

4) 4

1[Option ID=45589] Question Description : dwbv_pg_gp30_eng_2_q23
2[Option ID=45590]

3[Option ID=45591]
4[Option ID=45592]

Sl. No.24
QBID:30201024




If Ais coded as C, B as D, C as E and so on, then code the following:
'CONFIDENTIAL’

1. EQPHKFGKVNC
2. EQRIKFHOQWLEN
3. DQQHLFGPWLDN
4. EQPHKFGPVKCN

1)
(2)
(3)
(4)

A W N =

gi& A1 C & ®YH BB D, C B E AR 3 UBR P & H&RI & Heas (bl o, Al 'CONFIDENTIAL &l Heds il ;

1. EQPHKFGKVNC
2. EQRIKFHQWLEN
3. DQQHLFGPWLDN
4. EQPHKFGPVKCN

(1)
(2)
(3)
(4)

A W N =

1[Option ID=45593] Question Description : dwbv_pg_gp30_eng_2_q24
2[Option ID=45594]
3[Option ID=45595]
4[Option ID=45596]

Sl. No.25
QBID:30201025

Which number can replace question mark(?) in the series given below?
1,7.17,31, 2,71

1.47
2.49
3. 41
4. 60

1)1
(2) 2
(3) 3
4) 4

= €178 SEa § A [ (7) B S O e wiawidd & ¢
1,7,17,31,2, 71

1.47
2.49
3. 41
4. 60

(1)
(2)
(3)
(4)

A W N =

1[Option ID=45597] Question Description : dwbv_pg_gp30_eng_2_q25
2[Option ID=45598]
3[Option ID=45599]
4[Option ID=45600]

Sl. No.26
QBID:30201026




" Mr. Kubra is a murderer because he wrongfully killed someone.” Which fallacy is committed in the above argument?

1. Begging the question
2. Ad hominem
3. Hasty Generalisation
4. Equivocation

1) 1
) 2
(3) 3
(4) 4

5 TF1 Ul TARI & T 39 TTeid ol 4 [l DI AR ST g 1 SUad giod § 91 adr - Gu g ?

1. HTHIYT &Y

2. TfFRIARIY & e (TS giff=m)
3. Higedl B

4. AErH

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45601] Question Description : dwbv_pg_gp30_eng_2_q26
2[Option ID=45602]

3[Option ID=45603]
4[Option ID=45604]

Sl. No.27
QBID:30201027

Which of the following statements is logically equivalent to the statement-"some plants are carnivorous organisms."?

1. No carnivorous organisms are plants.

2. Some plants are non-carnivorous organisms.

3. No plants are non-carnivorous organisms.

4. Some plants are not non-carnivorous organisms.

(1) 1
(2) 2
(3) 3
(4) 4

Fafafad & 9 o9 &y diidd ¥ U 39 $YH & U9l ¢ - "5 Uy HibeR] Jid gid 87

1. i3 off AFER] Sfid Uey g1 g g

2. 7% UGU IR - AIEERI &4 81 B

3. @l M UIeu IR - AR e T e 2
4. P UTeY IR-HIGERI 1d 98l oid 6|

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45605] Question Description : dwbv_pg_gp30_eng_2_q27
2[Option ID=45606]

3[Option ID=45607]
4[Option ID=45608]

Sl. No.28
QBID:30201028




"Supporters of the ABC Political Party are against gun control and Republicans are also against gun control, so some
Republicans must be supporters of ABC Political Party.” Identify the fallacy in the above argument.

1. Affirming the consequent
2. Denying the antecedent
3. Ad hominem

4. Undistributed Middle

(1)
(2)
(3)
(4)

A W N =

"ol 9 IS ol &b GHY® dgd - FEAU & faeg 8, iR Rufsid- Hi dg® - Mg & [3%g 8, 39icY $@ Rufsds- v
Tt oo &a & 9ad® g et IRIT gfea I [ adaly @ fafed Sifed 7

1. hodied - fauH=
2.5qad - FEy
3. TS BiftHn

4. AT &g

(1)
(2)
(3)
(4)

A W N =

1[Option ID=45609] Question Description : dwbv_pg_gp30_eng_2_q28
2[Option ID=45610]
3[Option ID=45611]
4[Option ID=45612]

Sl. No.29
QBID:30201029

Which of the following statements are contrary to each other?
A. All human beings are mortal.

B. No human beings are mortal.

C. Some human beings are mortal.

D. Some human beings are not mortal.

Choose the correct answer from the options given below:

1.Aand D only
2.Band Conly
3. A and B only
4. A and Conly

(1)
(2)
(3)
(4)

A W N =




Fafaiad 4 ®H 9 &Y U gal & [udd g ?
A G HE R B B

B. I3 i A TR AT BT 21

C. P8 AT TR Bl

D. TF AW TR T g1 8

e faw e fawedl A T T SR A -

1. ®ad A R D

2.bad B 3R C

3. ®HadA AR E
4. BaAA R C

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=45613] Question Description : dwbv_pg_gp30_eng_2_q29
2[Option ID=45614]

3[Option ID=45615]
4[Option ID=45616]

Sl. No.30
QBID:30201030

Which of the following sources of knowledge according to classical Indian school of logic is defined as a statement of a

trustworthy person(aptavakya) and consists of understanding its meaning?

1. Sabda

2. Anumana
3. Upamana
4. Anuplabdhi

(1) 1
) 2
(3) 3
(4) 4

YR VR a0 Ad & AR FEfafad 3 9 9F & 69 Jid &1 sdas ([ya-ig afdd &1 &) & €9 H gRyIitd fear
g iR SoH e s w Ay A B 2

1. XMeg
2. AN
3. SUAN

4. Ui

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45617] Question Description : dwbv_pg_gp30_eng_2_q30
2[Option ID=45618]

3[Option ID=45619]
4[Option ID=45620]

Sl. No.31
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Which is the smallest of these data storage capacities?

1.2 KB

2. 2049 Bytes
3.05MB
4.3 GB

1)1
(2) 2
3) 3
(4) 4

FofRad sidsl (Sen Heru emarsi f  qqua e AT g 7

1.2 Pal

2. 2049 93¢
3.0.5 THdEl
4.3 Sl

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45621] Question Description : dwbv_pg_gp30_eng_2_q31
2[Option ID=45622]

3[Option ID=45623]
4[Option ID=45624]

Sl. No.32
QBID:30201032

Which of the following communication systems would best enable a meeting to take place between people working in

different locations?

1. VolIP

2. Email

3. Voicemail

4. Text messaging

11
(2) 2
(3) 3
(4) 4

fFrfeiad gaR yonierl # § o O yomell firs - i RHT iR orikd didadl & did 96@ & aieH oI uRdiied ®- g
TafH gRf 2

1. 91 3 o

2.30d

3. a9 HA

4. U1 T3 (S )

(1) 1

2) 2

3) 3

4) 4

1[Option ID=45625] Question Description : dwbv_pg_gp30_eng_2_q32
2[Option ID=45626]

3[Option ID=45627]
4[Option ID=45628]

Sl. No.33
QBID:30201033




Given below are two statements:
Statement I: Wireless (Wi-Fi) networks are less secure than hard-wired systems.

Statement II: A series of digital media files that are released at regular intervals and downloaded to the user's computer are
known as Podcasts. These media files are stored and maintained centrally.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement |l are true.
2. Both Statement | and Statement |1 are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

(1)
(2)
(3)
(4)

A W N =

BEFEA A RIS
HYF - | : IR (@T-HT3) Head BoR - dR aIcil Yunferd! &1 g &F Qg gid

HYH - 1| - AT SfaRTal R SR SR Wil & e H SIHAdAlS B 713 [afved Hiisdl Bigdl &1 §@dl & UISHRE &b U
T ST o1 B | 34 HifSar Brsdl &1 YR § SEYd $Eid 9 [ S g |

Iudad YAl & Sl H FEfdiad Gl § 8 98 I g -
1. ®YA 1 3R 1| ST T 2
2. YT | R 11 AT T B

3. B 1 9 §, foog & 1 S B
4. @Y | HOT B, g Y 1 9 B

(1)
(2)
(3)
(4)

A W N =

1[Option ID=45629] Question Description : dwbv_pg_gp30_eng_2_q33
2[Option ID=45630]
3[Option ID=45631]
4[Option ID=45632]

Sl. No.34
QBID:30201034

Which of the following are computer input devices that can best support students with a visual impairment?
A. Microphone

B. Foot mouse

C. Braille keyboard

D. Joystick

E. Speaker

Choose the correct answer from the options given below:

1. A and B only
2.Band D only
3.C,Dand E only
4. A and Conly

(1)
(2)
(3)
(4)

A W N =




fofafad % @ @ - & 4 duer Ay gfaa = arega ard faenfiar & o adn gems & 2
A. HISHIBH
B. Be AIGH
C.od dlals
D. WilaRE®
E. Wid
i fau T faded! 7 © HEl IR g -
1. Bdd A AR B
2. &4 B AR D

3. %A C, D ANE
4. HaAA R C

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45633] Question Description : dwbv_pg_gp30_eng_2_q34
2[Option ID=45634]

3[Option ID=45635]
4[Option ID=45636]

Sl. No.35
QBID:30201035

Match List | with List Il

List | (Internet . .
List Il (Description)

term)

A Blogs I Include software that allows users to create and edit web pages using a browser. Anyone is able to
create or edit this information

B. Social Il. A type of bookmarking where a user "marks"” a webpage or photo using text to describe its contents.

Networking sites  |Anyone can view the webpages or photos corresponding to these "markers".

C Taqai Ill. Allow interaction of people online. Users can add friends, post messages and update their personal
. Taggin . e ,
99ing profiles to notify friends about their status.

D. Wiki IV. Personal internet journals where a writer enters text about a particular topic or person; anyone can
. Wikis .
comment on topic.

Choose the correct answer from the options given below:

TA-NLB-1,C-I,D-1V
ZA-ILB-LC-ILD-IV
3A-LB-ILC-NL,D-1V
4A-IV,B-N,C-1I,D-1

1) 1
(2) 2
3) 3
(4) 4




Tl -1 B gl -1 I gAfed S :

@‘-
| @eAe (g - 1 (faEwom
T3)
1. 399 98 GITedu? TN & & Wiad of grewl &
A ST (OB 39 U8 S SR TUIfed @4 ol | B o 39
1 D1 9T Y] HUIGH $ Sl o
5. e II. U UBR & G € forad yaiadl gl da gy 3rar
S oz @ Sidas] &1 9UH S & (¢ U168 BT TART a2 39
Fafea s car el o o aafdd 39 =l & qr®e a9
A UgT srual foFl &I ¢E gl o
111, Safeerat @ SHiere sfafdar @1 afd &d1 &1 v
C 3fm il @I 9IS @d & 9o Utd & 9dd & 3R 30 Al
' @ U R & AN H giad & & (o - aafaarTa
TIRISd @1 T B 9 o
IV. SUTGIP SeTIe oHd forgH Dy aad® (hd! [aug SuaT
D.TA@ |[@fed & R & ule @l Ufaff Txdi & @18 N gg i
el &2 I@d g1
T feu e faweat # ¥ Tl 3R g

(1)
(2)
(3)
(4)

TA-NLB-1,C-I,D-1V
2ZA-ILB-1LC-1IL,D-IV
3.A-LB-ILC-1IL,D-1V
4A-IV,B-N,C-1,D-1

1
2
3
4

1[Option ID=45637]
2[Option ID=45638]
3[Option ID=45639]
4[Option ID=45640]

Question Description : dwbv_pg_gp30_eng_2_q35

Sl. No.36
QBID:30201036

Which of the following Sustainable Development Goals (SDGs) pertains to climate action?

1)
(2)
(3)
(4)

1.5DG 11
2.5DG 12
3.5DG 13
4.5DG 14

A W N =

frofaiad & 3 @F W 9dd [Gar ded (e saary 9aeh drdars 3 afia g 2

1)
(2)
(3)
(4)

1. TH el 11
2. T EE 12
3.Ug Sul 13
4. TSIl 14

A W N =

1[Option ID=45641]
2[Option ID=45642]

Question Description : dwbv_pg_gp30_eng_2_q36




3[Option ID=45643]
4[Option ID=45644]

Sl. No.37
QBID:30201037

Given below are two statements:

Statement I: International Solar Alliance (ISA) is an alliance of countries most of which lie between tropic of cancer and pole.
Statement II: Presently, ISA is headed by India.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4. Statement | is incorrect but Statement Il is correct.

1)1
(2) 2
3) 3
(4) 4

T s R E:
U - | ARIPT TR I (AETHY) T8 S 31 98 3 owd 9 Sfied oo a1 IR 4@ & Ad 3|
HYA - 1| : ToAH H TS TH T DT Seaf HRA 5
Sudad BUA! & Sald o FHafeiad el § 9 98 SR T -
1. @Y 1 3R 11 ST FE B
2. BT | R 11 G e B
3. Y9 | Tel &, fooed @9 11 o B
4. YA | T &, fog H2HF 11 TRl B

(1)
(2)
(3)
(4)

A W N =

1[Option ID=45645] Question Description : dwbv_pg_gp30_eng_2_q37
2[Option ID=45646]
3[Option ID=45647]
4[Option ID=45648]

Sl. No.38
QBID:30201038

Halons, kinds of Ozone Depletings Substances(ODS), were essentially and widely used in

1. Refrigerators

2. Air conditioners

3. Aerosol spray propellents
4. Fire Extinguishers

(1)
(2)
(3)
(4)

A W N =

IS 3raard! Uarf (3MSTy) & UHR galg Hgfaiad o ¥ feg o sffard 3R oue 9 9 mar e oid 4 2
1. AR
2. U3R SRR
3. WA S Aed
4, SHEAHS

) 1




(2) 2

3) 3

(4) 4

1[Option ID=45649] Question Description : dwbv_pg_gp30_eng_2_q38
2[Option ID=45650]

3[Option ID=45651]
4[Option ID=45652]

Sl. No.39
QBID:30201039

Kyoto Protocol(1997) was about

1. Protection of ozone layer

2. Reduction in Green House Gas emissions

3. Conservation of Biodiversity

4. Limiting the rise in global temperature to 2°C above pre-industrial times.

11
(2) 2
(3) 3
(4) 4

Fel Hieidid (1997) Fofdf@a T fpas aR F w1 2

1. 3T TR BT TREU

2. ¥ 8139 19 I &I 92 & fad

3. oid fafaear &1 geemn

4. AP AUGTE B M-S B T 2° YTY 7 Td W@

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=45653] Question Description : dwbv_pg_gp30_eng_2_q39
2[Option ID=45654]

3[Option ID=45655]
4[Option ID=45656]

Sl. No.40
QBID:30201040

Schistosomiasis, a water associated disease, is caused by

1. Ingestion of contaminated water

2. Contact with contaminated water

3. Lack of sufficient water to maintain cleanliness
4. Vectors grown on contaminated water

1)1
(2) 2
(3) 3
(4) 4

it Hiferd I R Fafeied § 9 eud griga s 2

1. Ugfid 9 & Aafen ¥

2. Ygfhd oic & u1Y 9u@ °

3. Bl ] gE¥d & (oY U4 ofd & 34/ E d
4. Ggftd 9id IR U4 IFTATEd

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45657] Question Description : dwbv_pg_gp30_eng_2_q40
2[Option ID=45658]

3[Option ID=45659]
4[Option ID=45660]




Sl. No.41
QBID:30201041

Given below are two statements:

Statement I: According to NEP 2020, Teaching and learning of Indian languages need to be integrated with school and
higher education at every level.

Statement Il: UNESCO has declared 220 Indian languages as ‘endangered-".
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement |l are true.
2. Both Statement | and Statement |1 are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1)1
) 2
(3) 3
(4) 4

Y - | : U1 2020 & STER YRATG HIE13{] & &0 T SR B Ui TR U Sheil d 3o &M & iy Hfded B ol
HIGRTDH 5|
BYT - 11 TIBT 5 220 HRAT UITTHT BT Yperds (TIawrs) Hiftd i |
Iude BT & 3Tl H FEieiad faeedl 3 9 98l I g :
1. BT | AR 11 EH G B
2. BYF | AR 11 GH T B

3. @Y | 9 &, fog &Y 11 S B
4. T | IO B, g Y 1 T B

(1)
(2)
(3)
(4)

A W N =

1[Option ID=45661] Question Description : dwbv_pg_gp30_eng_2_q41
2[Option ID=45662]
3[Option ID=45663]
4[Option ID=45664]

Sl. No.42
QBID:30201042

Which of the following recommended the establishment of national universities in India?

1. Kothari Commission

2. Radhakrishnan Commission
3. Knowledge Commission

4. Yashpal Commission

(1)
(2)
(3)
(4)

frafeiad 9 9 foe HRd = Uiy fafderear of wiftd o o1 sigiE & 4 7

1. BIGRT AT
2. THHOH SN
3. 1 A

4. U il

A W N =

@ 1




(2) 2

3) 3

(4) 4

1[Option ID=45665] Question Description : dwbv_pg_gp30_eng_2_q42
2[Option ID=45666]

3[Option ID=45667]
4[Option ID=45668]

Sl. No.43
QBID:30201043

Which of following acronym and its expansion are incorrectly matched?

1. NCERT- National Council of Educational Research and Training.
2. NCTE- National Council for Teacher Education

3. ICAR- Indian Council for Applied Research

4. AICTE- All India Council of Technical Education

11
(2) 2
(3) 3
(4) 4

Fafafad & 9 o9 uRavll 2 AR 3U@T faR (Quieu) 98l 1Y Qaikid T8l 6 2

1. TTHIS3RET - 72T SIS (T Toeh?H 9d UUs ¢
2. TAUIETS - ARFd SIS BR TR TdRH
3. AN - (U587 HEfd BR RS Ed

4, TSNS - Hia Sisa PR +ffF fFad taHaA

(1) 1

(2) 2

3) 3

4) 4

1[Option ID=45669] Question Description : dwbv_pg_gp30_eng_2_q43
2[Option ID=45670]

3[Option ID=45671]
4[Option ID=45672]

Sl. No.44
QBID:30201044

Given below are two statements:

Statement I: Fostering local competencies among students and teachers is one of the core values promoted by NAAC

(National Assessment and Accreditation Council) among the institutions of higher learning.

Statement II: Improving the overall quality of State institutions is one of the objectives of RUSA (Rashtriya Uchchatar Shiksha
Abhiyan).

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

(1)1
) 2
(3) 3
(4) 4




DY - | : I e eyl A faentifal @ el & = W GeHdrsd o1 U0 S 01 U T Hl [P SMhad I UReg)
GRI Hatid iR el 5 4 T &

DU - 11 2 o9 G BT §97 T0raw H YR ST 3R G TH T RIPT Ik 6 S{aE) 31 e 3534 B
SIuded Byl & STty H Hufeiad faeedl & 4 gt W g :

1. ®YF | AR | &F T B

2. B | SR 11 GH T B

3. @Y | 9 &, fog &Y 11 S B
4. BYF | O B, g Y 1 T B

1)
(2)
(3)
(4)

A W N =

1[Option ID=45673] Question Description : dwbv_pg_gp30_eng_2_q44
2[Option ID=45674]
3[Option ID=45675]
4[Option ID=45676]

Sl. No.45
QBID:30201045

The major suggestions of Rammurthy Committee on education were:

A. Derecognition of the UGC.

B. Abolition of agricultutral universities.

C. Decentralisation of higher education.

D. Focus of universities on teaching of post-graduate classes and reasearch.

E. Inservice training for university and college teachers to improve quality of teaching.
Choose the correct answer from the options given below:

1. A Band Conly
2.B,Cand D only
3.C, Dand Eonly
4. A, D and E only

(1)
(2)
(3)
(4)

A W N =

216 & Hdle 7 IAHfd Gl & Fafiied ¥ 9 @H - B9 UHE g3 9 2
A, TElTE! B H-E! GHIE BT
B. B fayfaaneal o1 3+
C. I il 1 i
D. WA R BT & (&0 g WY W fayfaencdl &1 wiey
. &1 &1 ToraT § QuR & o fufaenel g neifaenadl & orlka g4 9fdn) et &g ufam
il e faded! & 9 w8 S -
1. HAAA, B 3R C
2. %4t B, C AR D

3.®BadC, D3R E
4.Pada, D IARE




1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45677] Question Description : dwbv_pg_gp30_eng_2_q45
2[Option ID=45678]

3[Option ID=45679]
4[Option ID=45680]

Sl. No.46
QBID:30201046

Read the passage and answer the questions that follow:

Annual consumer price index (CPI) inflation fell to 5.88 percent in November, from the previous month's 6.77 percent and
below the RBI 6 per cent upper tolerance limit for the first time since December, 2021. The index of industrial production (IIP)
contracted 4 percent year-on-year in October, led by manufacturing (minus 5.6 percent) and also the sub-sectors that are
proxies for consumption and investment activity: Consumer durables (minus 15.3 percent), non-durables (minus 13.4
percent)and capital goods minus 2.3 percent). Clearly.the pent-up demand that fueled consumption spending post the lifting
of Covid-19 restrictions has ebbed. Nor are there signs of a fresh investment cycle even as exports-which were doing well til
September- have entered negative territory on the back of a global slowdown.

That said the evidence on growth slowing is more compelling than on inflation moderating The latter's decline in
November had mainly to do with food, which registered a steep dip to 4.67 percent from 7.01 percent in October. That, in
turn, was courtesy of vegetables and fruits These recorded inflation of minus 8.08 percent and 2.62 percent, basically
reflecting a seasonal trend: Winter is when supply of fresh produce, from tomatoes to cole crops)(e.g Cauliflower, cabbage,
broccoilietc) and leafy greens, turns plentiful and affordable.
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In October, the index of industrial production fell by

1. 5.88%
2.6.77%
3.4%

4. 5.6%

(1) 1
(2) 2
(3) 3
(4) 4

o
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1.5.88 %
2.6,77 %
3.4%
4.5.6 %

1)1




(2) 2

3) 3

(4) 4

1[Option ID=45681] Question Description : dwbv_pg_gp30_eng_2_q46
2[Option ID=45682]

3[Option ID=45683]
4[Option ID=45684]

Sl. No.47
QBID:30201047

Read the passage and answer the questions that follow:

Annual consumer price index (CPI) inflation fell to 5.88 percent in November, from the previous month's 6.77 percent and
below the RBI & per cent upper tolerance limit for the first time since December, 2021. The index of industrial production (IIP)
contracted 4 percent year-on-year in October, led by manufacturing (minus 5.6 percent) and also the sub-sectors that are
proxies for consumption and investment activity: Consumer durables (minus 15.3 percent), non-durables (minus 13.4
percent)and capital goods minus 2.3 percent). Clearly.the pent-up demand that fueled consumption spending post the lifting
of Covid-19 restrictions has ebbed. Nor are there signs of a fresh investment cycle even as exports-which were doing well til
September- have entered negative territory on the back of a global slowdown.

That said the evidence on growth slowing is more compelling than on inflation moderating The latter's decline in
November had mainly to do with food, which registered a steep dip to 4.67 percent from 7.01 percent in October. That, in
turn, was courtesy of vegetables and fruits These recorded inflation of minus 8.08 percent and 2.62 percent, basically
reflecting a seasonal trend: Winter is when supply of fresh produce, from tomatoes to cole crops)(e.g Cauliflower, cabbage,
broccoilietc) and leafy greens, turns plentiful and affordable.
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Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A): Consumption levels increased sharply after Covid-19 restrictions were lifted.

Reason (R): The demand for goods had accumulated due to frequent Covid-19 restrictions and lockdowns.
In light of the above statements, choose the most appropriate answer from the options given below:

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

2. Beth (A) and (R) are correct but (R) is not the correct explanation of (A).
3. (A) is correct but (R) is not correct.

4. (A) is not correct but (R) is correct.

1)1
(2) 2
(3) 3
(4) 4
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) 1
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1[Option ID=45685] Question Description : dwbv_pg_gp30_eng_2_q47
2[Option ID=45686]
3[Option ID=45687]
4[Option ID=45688]

Sl. No.48
QBID:30201048

Read the passage and answer the questions that follow:

Annual consumer price index (CPI) inflation fell to 5.88 percent in November, from the previous month's 6.77 percent and
below the RBI 6 per cent upper tolerance limit for the first time since December, 2021. The index of industrial production (IIP)
contracted 4 percent year-on-year in October, led by manufacturing (minus 5.6 percent) and also the sub-sectors that are
proxies for consumption and investment activity: Consumer durables (minus 15.3 percent), non-durables (minus 13.4
percent)and capital goods minus 2.3 percent). Clearly.the pent-up demand that fueled consumption spending post the lifting
of Covid-19 restrictions has ebbed. Nor are there signs of a fresh investment cycle even as exports-which were doing well til
September- have entered negative territory on the back of a global slowdown.

That said the evidence on growth slowing is more compelling than on inflation moderating The latter's decline in
November had mainly to do with food, which registered a steep dip to 4.67 percent from 7.01 percent in October. That, in
turn, was courtesy of vegetables and fruits These recorded inflation of minus 8.08 percent and 2.62 percent, basically
reflecting a seasonal trend: Winter is when supply of fresh produce, from tomatoes to cale crops)(e.g Cauliflower, cabbage,
broccoilietc) and leafy greens, turns plentiful and affordable.
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Which of the following registered the maximum percentage reduction in October?

1. manufacturing

2. consumer durables
3. non-durables

4. capital goods




(1) 1
(2) 2
(3) 3
(4) 4

HageR H Fafaied # U feae siftman wiiRa & s 2

1. fafmfor

2. fe1a Iunia axgu
3. R - o aqu

4, JuilTd AT

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=45689] Question Description : dwbv_pg_gp30_eng_2_q48
2[Option ID=45690]

3[Option ID=45691]
4[Option ID=45692]

Sl. No.49
QBID:30201049

Read the passage and answer the questions that follow:

Annual consumer price index (CPI) inflation fell to 5.88 percent in November, from the previous month's 6.77 percent and
below the RBI 6 per cent upper tolerance limit for the first time since December, 2021. The index of industrial production (IIP)
contracted 4 percent year-on-year in October, led by manufacturing (minus 5.6 percent) and also the sub-sectors that are
proxies for consumption and investment activity: Consumer durables (minus 15.3 percent), non-durables (minus 13.4
percent)and capital goods minus 2.3 percent). Clearly.the pent-up demand that fueled consumption spending post the lifting
of Covid-19 restrictions has ebbed. Nor are there signs of a fresh investment cycle even as exports-which were doing well til
September- have entered negative territory on the back of a global slowdown.

That said the evidence on growth slowing is more compelling than on inflation moderating The latter's decline in
November had mainly to do with food, which registered a steep dip to 4.67 percent from 7.01 percent in October. That, in
turn, was courtesy of vegetables and fruits These recorded inflation of minus 8.08 percent and 2.62 percent, basically
reflecting a seasonal trend: Winter is when supply of fresh produce, from tomatoes to cole crops)(e.g Cauliflower, cabbage,
broccoilietc) and leafy greens, turns plentiful and affordable.
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Given below are two statements:

Statement I: All the food items this November were cheaper as compared to November last year.
Statement II: Vegetables this November were cheaper than those last November.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement |l are true.
2. Both Statement | and Statement |l are false.
3. Statement | is true but Statement Il is false,
4. Statement | is false but Statement Il is true.

(1)
(2)
(3)
(4)

hA W N =
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@Y - | : USd 9y AR SI go1 H 39 Aaa J 9T Ere gl i o
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1. Y | 3R 1| &H 9
2. Y 1 3R 11 GHI 3 B

3. Y| 9 8, g &9 1| A B
4. Y| HT R, g dYT 1 TT B

(1)
(2)
(3)
(4)

A W N =

1[Option ID=45693] Question Description : dwbv_pg_gp30_eng_2_q49
2[Option ID=45694]
3[Option ID=45695]
4[Option ID=45696]
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Read the passage and answer the questions that follow:

Annual consumer price index (CPI) inflation fell to 5.88 percent in November, from the previous month's 6.77 percent and
below the RBI 6 per cent upper tolerance limit for the first time since December, 2021. The index of industrial production (IIP)
contracted 4 percent year-on-year in October, led by manufacturing (minus 5.6 percent) and also the sub-sectors that are
proxies for consumption and investment activity: Consumer durables (minus 15.3 percent), non-durables (minus 13.4
percent)and capital goods minus 2.3 percent). Clearly.the pent-up demand that fueled consumption spending post the lifting
of Covid-19 restrictions has ebbed. Nor are there signs of a fresh investment cycle even as exports-which were doing well til
September- have entered negative territory on the back of a global slowdown.

That said the evidence on growth slowing is more compelling than on inflation moderating The latter's decline in
November had mainly to do with food, which registered a steep dip to 4.67 percent from 7.01 percent in October. That, in
turn, was courtesy of vegetables and fruits These recorded inflation of minus 8.08 percent and 2.62 percent, basically
reflecting a seasonal trend: Winter is when supply of fresh produce, from tomatoes to cole crops)(e.g Cauliflower, cabbage,
broccoilietc) and leafy greens, turns plentiful and affordable.
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Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A): Food inflation in winters is generally low.

Reason (R): The demand for food items in winter is lower than that in other seasons.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

2. Both (A) and (R) are correct but (R) is not the correct explanation of (A).
3. (A) is correct but (R) is not correct.

4. (A) is not correct but (R) is correct.

(1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=45697] Question Description : dwbv_pg_gp30_eng_2_q50
2[Option ID=45698]
3[Option ID=45699]
4[Option ID=45700]

Paper II : 4-Psychology

Sl. No.1
QBID:14001

The term 'integral yoga' is popularized by:

1. Panini
2. Patanjali
3. Sri Aurobindo
4. Ramakrishna Paramahansa
11
(2 2
(3) 3
4) 4
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1. GTforET
2. gdoifel
3. ot aRfa=]
4. THHY] RHAGH
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=46501] Question Description : psychology_psychology_set 1_english_q1
2[Option ID=46502]
3[Option ID=46503]
4[Option ID=46504]

Sl. No.2
QBID:14002

Which of the following correlation coefficient represents the variables with the weakest degree of relationship?

-. 84
.56
.15
.08

LI B =
+ |

g
4r

(1) 1
() 2
(3) 3
(4) 4
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(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=46505] Question Description : psychology_psychology_set 1_english_q2
2[Option ID=46506]

3[Option ID=46507]
4[Option ID=46508]

Sl. No.3
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If observers disagree 15 times out of 75, then the inter-rater reliability is:

. 50%
. 80%
. 20%
. 60%
1 1
(2) 2
(3) 3
(4) 4
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(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=46509] Question Description : psychology_psychology_set 1_english_q3
2[Option ID=46510]

3[Option ID=46511]
4[Option ID=46512]
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If a student scored 12 on a test, of which the mean is 16 and the standard deviation is 4, what is his z-score?

1.-1.0
2.+1.0
3.+3.0
4.0.0

(1) 1

(2) 2

3) 3

(4) 4
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1.-1.0
2.+1.0
3.+3.0
4.0.0

11

(2) 2

(3) 3




(4) 4

1[Option ID=46513] Question Description : psychology_psychology_set 1_english_q4
2[Option ID=46514]
3[Option ID=46515]
4[Option ID=46516]
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Which one is the correct formula for variance ?

1. Variance = (ZX-Z%)°
N
— w-3)°
2. Variance = Zf
X-X)°
3. Variance = Z—
N2
: (Fx2-X°
4. Variance = ?
1) 1
(2) 2
(3) 3
(4) 4
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\
3. JRROT = (ZX-X
-\L
4. TR = (ZX-T)
’ N
1) 1
) 2
3) 3
4) 4

1[Option ID=46517] Question Description : psychology_psychology_set 1_english_q5
2[Option ID=46518]
3[Option ID=46519]
4[Option ID=46520]
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A researcher is interested in testing the effectiveness of Pre-post intervention on a single group. The statistical
test that could be used is:

1. Correlation
2. Chi square
3. ANOVA

4. 't test
1
(2) 2
(3) 3
4 4
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1. ggddy

2. Plo- IR

3. HQHGiTEﬁH (ANOVA)
4. 't gEur

1 1
) 2
3) 3




(4) 4

1[Option ID=46521] Question Description : psychology_psychology_set 1_english_q6
2[Option ID=46522]
3[Option ID=46523]
4[Option ID=46524]

Sl. No.7
QBID:14007

Which of the following is correct?

1. Test-retest reliability is determined by assessing the degree of relationship between scores on one half of a
test with scores on the other half of the test.
2. Alternate forms reliability is determined by assessing the degree of relationship between scores on two
different equivalent tests.
3. Split-half reliability is determined by assessing the degree of relationship between scores on the same test,
administered on two different occasions.
4. Internal reliability is the extent to which the effect of the dependent variable is the result of the independent
variable and not some other aspect of the study.
1
2) 2
(3) 3
(@) 4
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(1) 1
2) 2
3) 3
4) 4

1[Option ID=46525] Question Description : psychology_psychology_set 1_english_q7
2[Option ID=46526]
3[Option ID=46527]
4[Option ID=46528]
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Cog-screen, a computer assisted tool, has been used in the selection of

1. Human Resource Managers
2. Doctors
3. Airline pilots
4. Electronic Media journalists
1) 1
(2 2
3) 3
4) 4
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(1) 1
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3) 3
(4) 4

1[Option ID=46529] Question Description : psychology_psychology_set 1_english_q8
2[Option ID=46530]
3[Option ID=46531]
4[Option ID=46532]

Sl. No.9
QBID:14009

Utility of Semantic differential scale is not contingent upon:

. Finding appropriate adjective pairs
. Meaning of the words

. Length of the items in the scale

. Contextual reference of the items
1

(2 2

(3) 3

(4) 4
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1[Option ID=46533] Question Description : psychology_psychology_set 1_english_q9
2[Option ID=46534]
3[Option ID=46535]
4[Option ID=46536]
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Which structure of the Limbic system is mostly responsible for controlling the emotional behaviour of fear ?

1. Amygdala
2. Hippocampus
3. Cingulate gyrus
4. Mammilary bodies
1) 1
(2) 2
3) 3
(4) 4
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REM sleep is characterized by one of the following conditions.

1. PGO waves
2. ULPA
3. Flip-flop
4. Histamine
11
) 2
(3) 3
) 4
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Class is to the property of measurement as time is to the property of measurement.

1. Magnitude, Identity

2. Equal unit size, magnitude

3. Identity, absolute zero

. Absolute zero, equal unit size
1) 1

(2 2

3) 3

(4) 4
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A genetic inability to metabolize amino acid phenylalanine leads to one of the following conditions.

1. Down's syndrome
2. Autism

3. Cerebral Palsy
PR

1

(2) 2
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3) 3
(4) 4
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A person who had experienced an intensive negative emotion fails to recollect the emotional event. This is
known as:

1. Forgetting due to interference
2. Retrieval failure

3. Motivated Forgetting

4. Forgetting due to decay

1

(2 2

3) 3

(4) 4
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The tendency of a consumer to decide on buying a product that was repeatedly appearing on T.V. screen is
attributed to:

1. Effectiveness of the product
2. Price of the product
3. Subliminal perception
4. Utility of the product
)1
) 2
(3) 3
(4) 4
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Brain lesions of sub cortical regions produced by passing electrical current through an insulated electrode is
called:

1. Excitotoxic lesions
2. Radio frequency lesions
3. Sham lesions
4. Excitatory lesions
1
2) 2
3) 3
(4) 4

fopell frgm - YT eidgis & HILH ¥ frge YRT DI YR B I I JU-dedel & DI HIKTD 91d

1. TqIgel iy (fawred) |1

2. &1 3aft (@RERA) 919
3. 3Ty (3ffYET) 919
4. JASHBRL 919

1) 1

() 2

3) 3

(4) 4

1[Option ID=46561] Question Description : psychology_psychology_set 1_english_q16
2[Option ID=46562]
3[Option ID=46563]
4[Option ID=46564]

Sl. No.17
QBID:14017

A person dressed in a gorilla suit walked unnoticed through a group of students playing basket ball . How can
this phenomenon be described?

1. Change of attention
2. Attention loss
3. Inattention blindness
4. Attention lapse

1) 1

(2) 2

3) 3

(4) 4
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The light sensation from the left and right visual field travels to the visual cortex through:

1. Lateral geniculate nucleus

2. Superior colliculus
3. Optic radiations
4. Pulvinar nucleus

(1

(2 2

(3) 3

(4) 4
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Step by step interaction of operating a mechanical gadget is an example of :

1. Trouble shooting
2. Algorithm
3. Heuristic approach
4. Means-end analysis
1) 1
(2 2
(3) 3
(@) 4
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3) 3
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Making a reference to a respected person believed to be well informed, when one's own logic or reasoning is
weak, is called:

1. Arguing in circles
2. False Analogy
3. Appeal to authority
4. Overgeneralization
1
) 2
(3) 3
(@) 4

I fah it cHferT @bl deh Ul &HT BHOIR Gldl ¢ ol G-HaTd (1930 T o 1T fay1™y fohy o g, et
YHAT SafeRt b1 HaH &1, Heerd 3;

1. IhI 1Y T - fadd HeAl
2. 3T 9=y
3. U9 - 3MWE
4. 3{Td - ISR
1) 1
(2) 2
3) 3
4) 4

1[Option ID=46577] Question Description : psychology_psychology_set 1_english_q20
2[Option ID=46578]
3[Option ID=46579]
4[Option ID=46580]

Sl. No.21
QBID:14021

When a person who needs to use a tool in a novel way but cannot do, it is attributed to:

1. Lack of interest
2. Lack of motor skill
3. Functional fixedness

4. Lack of motivation
11
(2 2
(3) 3
4) 4
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2[Option ID=46582]
3[Option ID=46583]
4[Option ID=46584]
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Which of the following examines information processing approach to intelligence ?

1. Overall success in living
2. Structure of intelligence
3. Functions of intelligence
4. Processes underlying intelligent behaviour
1) 1
(2) 2
3) 3
(4) 4
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In the Drive Reduction Theory given by Hull, SHR stands for :

1. Excitatory potential
2. Drive reduction
3. Habit strength
4. Inhibitory potential
1) 1
(2 2
3) 3
(4) 4
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Which of the following attributions indicate an optimistic explanatory style in the face of stress?

1. Internal cause, specific impact, and unstable outcome
2. External cause, specific impact and unstable outcome
3. Internal cause, global impact and unstable outcome
4. Internal cause, global impact and stable outcome

1) 1

(2) 2

3 3

(@) 4
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An individual encountering prolonged stress is prone to suffer from skin infection because:

1. Corticotropin Releasing Factor (CRF) flows into the blood causing damage to the skin.
2. Adrenalin released into blood absorbs the vitamin B that is necessary for nourishing the skin
3. Cortisol released into blood causes damage to the T and B cells in the WBC
4. Corticosteroids get deposited in the skin due to stress
1) 1
(2 2
3) 3
(4) 4
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Hardiness is a combination of three cognitive factors involved in the interpretation of life events. Find out from
the following which is not correct for hardy personality.

1. Control

2. Coping

3. Challenge

. Commitment

=




(1) 1
(2) 2
(3) 3
(4) 4
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Cognitive dissonance theory explains that attitude change occurs as a result of :

1. Distance between one's belief and behaviour
2. Reduction of the unpleasant arousal people experience while they engage in a behaviour that conflicts with
their attitude.
3. A resolution of conflict by a neutral third party who studies both sides and imposes a settlement.
4. A strategy in which people create obstacles to success so that potential failure can be blamed on these
external factors.
1) 1
2) 2
3) 3
(4) 4
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Social loafing is defined as:

1. Personal characteristics that others view as insurmountable handicaps preventing competent or morally
trustworthy behaviour

2. The tendency by group members to slack off and reduce their effort on additive tasks, which cause the
group's output to fall short of its potential

3. The set of interpersonal relationships associated with the social position a person occupies

4. Individuals' concept of self in specific social roles.

@ 1
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Which of the following is a group decision-making technique?

1. Brainstorming
2. Ordinal group technique
3. Risky shift
4. Random shift
1) 1
2) 2
(3) 3
(4) 4
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Which of the following is correct about the result of Milgram's study?

. In the real word, most people will refuse to follow orders to inflict harm on a stranger

. Many people will obey an authority figure even if innocent people get hurt

. Most people are willing to give obviously wrong answers when ordered to do so

. Most people stick to their own judgement even when group members unanimously disagree

W b =

=

1)1
(2) 2
3) 3
(4) 4
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Which of the following definitions is not correct according to Gestalt therapy?

1. Introjection refers to the internalized rules governing our thoughts, feelings and behaviour which we absorb
from parental and other influences from childhood onwards.

2. Retroflection refers to the process whereby we do to ourselves what we would like to do to some one else.

3. Confluence refers to the style of relating to other people which is based on an absence of conflict and a
conviction that everyone should be in agreement

4. Deflection refers to the process of attributing aspects of ourselves to other people

1) 1

() 2

(3) 3

(4) 4
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The counsellor can use the following formula for a rough assessment of severity of client's problem, prescribed
by Mehrabian and Reed (1969).

1. Distress+Uncontrollability + Frequency
2. Distress + Uncontrollability — Frequency
3. Distress x uncontrollability x frequency
4. (Distress + controllability) x Frequency

1

(2 2

(3) 3

(4) 4
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Which of the following name is associated with Play Therapy ?

1. Eric Berne

2. Elizabeth Hurlock
3. Gerard Egan

4. Virginia Axline
1

) 2

(3) 3

4) 4
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In REBT, treatment is based on :

1. Assessment of goals and activating events only
2. Diagnostic categories, beliefs and consequences
3. Believes and consequences only
4. Assessment of goals, activating events, believes and consequences
1
(2 2
(3) 3
(4) 4
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Transactional analysis is concerned with four major areas of analysis. Which out of the following does not come
under this ?

1. Structural analysis
2. Hypnotic analysis
3. Ground analysis
4. Game analysis
1

) 2

(3) 3

(@) 4
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Which of the following is not relevant to a cardiac patient's behaviour of adherence to treatment?

. Self-efficacy

1
2. Perception about how serious is the condition
3. Sense of humour
4. Perception of how much control one can exercise on health
1) 1
(2 2
3) 3
(4) 4
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Which of the following is not a risk factor for hypertension ?

1. Obesity
2. Atherosclerosis
3. Multiple Sclerosis
4. Exposure to stress
1) 1
2 2
(3) 3
4 4
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Actions taken to identify and treat an illness or injury early with an aim of stopping or reversing the problem
comes under:

1. Primary prevention

2. Secondary prevention
3. Tertiary prevention

. Protection prevention
1) 1

(2 2

3) 3

(4) 4
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In the context of health behaviour, Matarazzo (1984) claims :

1. Behaviour that protects health as 'behavioural immunogenes and that puts health at risk as 'behavioural

compromise'
2. Behaviour that protects health as 'behavioural immunogenes and that puts health at risk as "Behavioural
pathogens'
3. Behaviour that protects health as 'psycho immunogenes' and that puts health at risk is Tmmuno
Compromisers'
4. Behaviour that protects health as Tmmunological behaviour' and that puts health at risk as 'pathological
behaviour'
1) 1
(2 2
(3) 3
(4) 4
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H WO Pl @D SIRgH H STAdi g |
2. 98 HdER Sl W bl YU 'AdGRITd HUhRID' & Y H Hdl g 3R HIGRIA AU & FY
H W@ &l ¢aDHR SIRGH H SIAdl § |
3. 98 HAER Sl TR B Y& HAIHH RIS @ U H Bl g 3R IRE AN & =
H WA Bl SEH S Bl ST g |
4. 9g UdgR ofl WA D] W& 'Sh-IIHD AdgR' b U H Bl § HR [dPidei-g HIER & =
H WA DI GEH SIRGH H STl o |
1) 1
o 2
(3) 3
(4) 4

1[Option ID=46653] Question Description : psychology_psychology_set 1_english_q39
2[Option ID=46654]
3[Option ID=46655]
4[Option ID=46656]

Sl. No.40
QBID:14040

Martin Seligman proposed a theory of authentic happiness and well being which contains five elements. Which
of the following does not come under Seligman's theory?

1. Positive emotion
2. Meaning that defines authentic happiness
3. Resilience
4. Accomplishment
1) 1
() 2
(3) 3
(@) 4

A1 I 3 YIS 3 3R e &1 Ue g feur Sorad s ad § | Fafafea d o aF
i+ & R # Fg1 a1 g 2

. RIS UG
. UTHITO 3{TH &1 GRHTNT dH-ardr 3
. T KT (Resilience)
4. 3uafsy
1) 1
(2) 2
(3) 3
4) 4

1
2
3

1[Option ID=46657] Question Description : psychology_psychology_set 1_english_q40
2[Option ID=46658]




3[Option ID=46659]
4[Option ID=46660]

Sl. No.41
QBID:14041

Which of the following is correct about cognitive perspective?

A. Thinking and understanding about the world

B. Information processing

C. Overt behaviour only

D. Similarity of thinking and working of a computer

Choose the most appropriate answer from the options given below:

.Aand D only

. C and D only
.A,BandD only
. Aand B only

1) 1

() 2

(3) 3

(4) 4

UTIHD qRyed & deH A Fafaed # 9 s ggi g 2
A. oTd & fawg # feid— ud I

B. Y1 UshHUI

C. $ad Y& FagR

D. fHiaH 3R HWer & BRI B H G

s W b =

[a

i<l AU 7Y fdsedl H 9 e Iugdd 3R &l 999 Hifolg :

1. FdTASMRD
2. %ad C3AR D
3. Hdd A, B3R D
4. A A3MRB

1 1
(2) 2
(3) 3
(4) 4

1[Option ID=46661] Question Description : psychology_psychology_set 1_english_q41
2[Option ID=46662]
3[Option ID=46663]
4[Option ID=46664]

Sl. No.42
QBID:14042

According to Indian concept of Self, elements of Psychological self include:

A. Manas

B. Buddhi

C. Anthakarna
D. Dhyana.

Choose the correct answer from the options given below:

1. A, Band D only
2.B, Cand D only
3. A, Cand D only
4. A.Band C only

1

(2) 2

(3) 3




(4) 4

HTH dcd Bl HRATY Hebed T o ATHR HAIdI-b TR R HIH H e gidI g -

A TFY
B. §f<
C. 3R]
D. &I

HId fau T fadh el § el 3R Bl 994 DIl -

1.$dd A.B.D
2.$ddB,C,D
3. Hdd A, C,D
4, $dd A, B, C

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=46665] Question Description : psychology_psychology_set 1_english_q42
2[Option ID=46666]

3[Option ID=46667]
4[Option ID=46668]

Sl. No.43
QBID:14043

Which of the following can be used to determine the number of factors to be extracted in factor analysis?

A. Scree-plot

B. Orthogonal rotation
C. Eigen value

D. Factor Loading.

Choose the most appropriate answer from the options given below:

1. Aonly
2.B and C only
3. Conly
4. A and C only
1
(2 2
(3) 3
(4) 4

?Wﬁﬁﬁqﬂ{ﬁﬁﬁ?ﬁﬁ%qwﬁ qTd dRD| i e R H, 9 7 9 - &1 yan faear o bl

A BhI-e
B. dauflg Yol (SRUITH ACTH)

C. 3T J
D. BR® HR

Oy

il faU 7Y fdedl H 9 a3 Iugdd TR bl 99 Hiforg -




3) 3
(4) 4

1[Option ID=46669] Question Description : psychology_psychology_set 1_english_q43
2[Option ID=46670]
3[Option ID=46671]
4[Option ID=46672]

Sl. No.44
QBID:14044

Which of the following are the types of probability sample ?

A. Simple Random sampling

B. Proportionate stratified sampling

C. Disproportionate stratified sampling
D. Saturation sampling

Choose the correct answer from the options given below:

. A, Band C only
.B, Cand D only
.A, CandD only
.A.Band D only
1) 1
(2) 2
3) 3
(4) 4

fafaRad § 9wt ufdaaT & ®H - PH U TR § 2

A. WA TrRfwsed Uid=ayH

B. MU TRibd Uid=a-

C. A HMUIdS TRihd Yfd=a-
D. Hftel Ylcrea

i fau T fasdh et # 9 9l IR &l 99 HifoL :

1.$hdd A, B, C
2. $ddB.C.D
3.Hdd A, C,D
4. $dd A, B.D

(1)1
) 2
(3) 3
(4) 4

I W b =

1[Option ID=46673] Question Description : psychology_psychology_set 1_english_q44
2[Option ID=46674]
3[Option ID=46675]
4[Option ID=46676]

Sl. No.45
QBID:14045




Which of the following statements are true of aptitude?

A. They are acquired

B. They are innate

C. Training ensures optimal performance

D. Aptitudes and interests are positively related.

Choose the most appropriate answer from the options given below:

1. A and B only
2.B and C only
3. A, Band C only
4. C and D only
1) 1
(2) 2
(3) 3
(4) 4

e & Ty # Fid A o 4 HUT9d § 2

A. 9 affefed &1 Sl §

B. d 9fi{& gl g |

C. UIR1&01 Y 3UH1 3aH e gRfgd gidaie |
D. A& 3R T IHRIAS 713 TEd g |

{

i feT T fash odl 7 O 98 Iugad IO &l 94 HIfoT:

1. $ATA&B
2. HddB & C
3. Hdd A B.C
4. HIAC&D

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=46677] Question Description : psychology_psychology_set 1_english_q45
2[Option ID=46678]
3[Option ID=46679]
4[Option ID=46680]

Sl. No.46
QBID:14046

What is true about norm in Psychological Test?

A. Norm helps as comparative device

B. 'Percentage’ is a type of norm used by some psychometricians
C. T-score is a type of standard score norm

D. Raw score is converted to derived score for norm interpretation.

Choose the most appropriate answer from the options given below:

1. A and D only
2. A.Band D only
3. A, CandD only
4. A, Band C only
1
(2 2
(3) 3
(4) 4




IS e H Ards & deH # FEfafed A P wEi g 2

A. HMES a1 gfdd & &0 H YgRIdl i g |

B. $% U MR gRI WG a1 SHdrdl AFe e & U YR Uad' ¢ |
C. TR HFS TR HFGS $I UD YHR ¢

D. AMES -sriufauifed & U ouishd TR g« TR H $UidRd Sidl g |

i fau Tt fasdh et # 9 9l IR &l 99 Hifoe :

1.$hdd A, D

2. $dd A, B.D
3. Hdd A, C,D
4. $ddA. B, C

1)1
) 2
(3) 3
(4) 4

1[Option ID=46681] Question Description : psychology_psychology_set 1_english_q46
2[Option ID=46682]
3[Option ID=46683]
4[Option ID=46684]

Sl. No.47
QBID:14047

True description about Differential Aptitude Test (DAT) are:

A. It has eight sub tests

B. Meant for students from grade 8 to grade 12

C. Meant for students in the age of 8 to 12 years

D. It has also been adapted by Indian Psychologists.

Choose the most appropriate answer from the options given below:

. Aand B only
.Aand C only
.B, Cand D only
. A, Band D only
1

(2 2

3 3

(@) 4

fadtee siftraf wlteor (g F el A ad a2

A. 39H 3116 IUTI&UT EId ©

B. UE P&l 8 T P& 12 & fqenfial & e gar g
C.Ugs Iy ¥ 12 a¥ ot Mg & faanfifal & R giar e
D. 34 YR TIfas=a gR1 f s ied e g |

i faU Y fdedl # 9 e Iugdd IR &I 989 HifoIg -

1. hdd A, B
2. Hdd A, C
3. $ddB.C.D
4.%dd A, B.D

(1) 1
(2) 2
3) 3
(4) 4

= W b =




1[Option ID=46685] Question Description : psychology_psychology_set 1_english_q47
2[Option ID=46686]
3[Option ID=46687]
4[Option ID=46688]

Sl. No.48
QBID:14048

Which of the following domains are assessed by Neuropsychological tests?

A. Language

B. Opinion

C. Memory

D. Executive Functioning
E. Reaction

Choose the correct answer from the options given below:

1. B, C and E only
2. A, CandD only
3.C,D and E only
4. A.Band D only

1) 1

(2 2

(3) 3

(4) 4

AT o 9 fooe1 &A1 @1 Yeia T TId=e GRI&oN gRT [6ar <Irdl 6 2

A, HINI
B. Hd

C. §id

D. SRIBRI S

E. ufdfear
T fau U fadedl © U Usl I Bl 99 Hifulu :

1.$dd B.C.E

1[Option ID=46689] Question Description : psychology_psychology_set 1_english_q48
2[Option ID=46690]
3[Option ID=46691]
4[Option ID=46692]

Sl. No.49
QBID:14049




Which of the following statement/s are True of Biofeedback?

A. Tt is accurate

B. Behaviour can be modified through biofeedback

C. It helps in bringing involuntary actions to voluntary actions
D. It is one of the components of polygraphy.

Choose the most appropriate answer from the options given below:

.A.Band C only
. Aand B only
.C and D only
.A.Band D only
1) 1

(2) 2

(3) 3

(4) 4

Sid ufdqf® & A A Falafad # 9 s pu19a g 2

A UE gD BIdIg |

B. Sid Wigf¥ & H1egd Y AdgR YRdcdH fobdl off Gl ¢ |
C. I8 3= Sl Dl Wiwsd i H gead g |

D. U Y] Bl U 4 ¢ |

s W b =

i feu T fash Ul H 9a8 Iugad I &l 99 Bifeiy -

1.$dd A, B, C
2. $dd A, B
3.$hdd C.D
4.%dd A, B,D

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=46693] Question Description : psychology_psychology_set 1_english_q49
2[Option ID=46694]

3[Option ID=46695]
4[Option ID=46696]

Sl. No.50
QBID:14050

Which of the following are the motivating factors in learning :

A. Intelligence

B. Nature of task

C. Knowledge of result
D. Reinforcement

Choose the most appropriate answer from the options given below:

1. A, Band C only
2.B, Cand D only
3.Band C only
4. A and C only
1) 1
(2 2
(3) 3
(4) 4




frafafad 5 9 ®F Siftrm | ftRuTHS R$ § °

A 9fg

B. S & Ypid

C. URUMH & SHHRI
D. G-I

i 3T ¢ fasedl § 98! Halld® Ul 3wk &l 99 DIl ;

1.$hdd A, B, C
2. $ddB,C,D
3. Hdd B, C
4. FddA, C

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=46697] Question Description : psychology_psychology_set 1_english_q50
2[Option ID=46698]

3[Option ID=46699]
4[Option ID=46700]

Sl. No.51
QBID:14051

Which one is not correct about classical conditioning

A. Classical conditioning is also known as respondent conditioning.

B. A previously natural stimulus comes to elicit a response after it is paired with a stimulus that automatically
elicits that response.

C. It is based on the fact that certain stimuli automatically elicit certain response without learning

D. Classical Conditioning is also known as Instrumental Conditioning.

E. In Classical conditioning there is no association between stimulus and response

Choose the correct answer from the options given below :

1. Aand D only
2. A, CandD only
3.B,C.Donly
4. C and D only
1) 1
2 2
3 3
(@) 4

FANSDd HJpa- & R H HHRId H J # g1 g 2

A. TIPS 3JPHeT Bl IR GIdl el Hi Bl S g |

B. Oid U Ugd & (el Ieiyd i [t Tadiierd <71 Uidfshd YTt &3 died I51Ue o 1Y id fdbar
oIl ¢ dl ag i widfebar v drar g |

C. UE 39 T IR ARG & [ 2 [ IEus 07 o O of o FiEd ufafhat Saa a dd g |

D. ARG A &l RS Had Yl Her g |

E. el d Sfgdha- H 319 3R Uldfhar & did g Jrawe 131 ¢ |

A fau U fased! § 9§ g1 3R &1 99 DIfIT;

1. ®dd A&D
2. $HddA, C&D
3.%dd B,C,D
4.$ddC &D




(1) 1

(2) 2

3) 3

4) 4

1[Option ID=46701] Question Description : psychology_psychology_set 1_english_q51
2[Option ID=46702]

3[Option ID=46703]
4[Option ID=46704]

Sl. No.52
QBID:14052

Which of the following are true of perceptual constancy?

A. Shape

B. Illumination
C. Colour

D. Distance

Choose the most appropriate answer from the options given below:

1. Aand C only
2. Aand B only
3.Band C only
4. B and D only

1) 1

(2 2

(3) 3

(4) 4

PRI AT A T RS ) P IR T T 6 2

A. STPHI
B. Wdlitd

C. 3

D. gl

i< faU 7Y fdedl # 9 a4 Iugdd IR &1 99 DIfIT:

1. Fad A 3R C
2. $dd AR B
3. %ad B3R C
4. %dd B 3R D

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=46705] Question Description : psychology_psychology_set 1_english_q52
2[Option ID=46706]
3[Option ID=46707]
4[Option ID=46708]

Sl. No.53
QBID:14053




Which of the following are the types of long term memory?

A. Declarative Memory
B. Flash Bulb memory
C. Episodic memory
D. Sensory Memory

Choose the most appropriate answer from the options given below:

1. A, Band C only
2.B, Cand D only
3. Aand D only
4. A and C only
1) 1
) 2
(3) 3
(4) 4

gt # 9 - def-ards Fid s R g 2

A. 9IYUITHS Fd (Sderfcd i)
B. &UIEIG Wi (T2 dedl Ff)
C. Je1-5=0 Fid (TOHiss i)
D. Hadl (st ¥ (@ ¥

i< f4u ¢ f[ah el § 9§ Ul 3R &I 99+ Hifolu :

1.$dd A, B, C
2.$ddB,C.D
3. HAd A 3R D
4. HAA A, 3R C

(1)1
(2) 2
(3) 3
(4) 4

1[Option ID=46709] Question Description : psychology_psychology_set 1_english_q53
2[Option ID=46710]
3[Option ID=46711]
4[Option ID=46712]

Sl. No.54
QBID:14054

Which of the following statements are true ?

A. All intelligent persons are creative

B. Creativity is also known as divergent thinking

C. Creativity is genetically determined

D. Research is not conclusive about the relationship between intelligence and creativity.

Choose the correct answer from the options given below:

1. Aand B only
2.Band C only
3. Aand D only
4. B and D only

1) 1

(2 2

(3) 3

(4) 4




fFafaRad PF 4 FYT I § 2

A. G4l FfgHM Al GorTdAD g1d § |
B. GoHIHGAl B TR fid & v & ft ST S1an g |

C. gorTeP 1 Srgaifie ¥9 4 Puffd gt §1
D. Jfe 3R GoHTeDdl & AL GdY & aR H 2N (4TS 181 ¢ |

Hid fau Tt fad el § gl 3R Bl 904 DIl :

1. $dd A 3R B
2. FAd B 3R C
3. HFATARD
4. A B 3R D

1)1
(2) 2
(3) 3
(4) 4

1[Option ID=46713] Question Description : psychology_psychology_set 1_english_q54
2[Option ID=46714]
3[Option ID=46715]
4[Option ID=46716]

Sl. No.55
QBID:14055

Which of the following indicate aspects of language development?

A. Pragmatics
B. Syntax

C. Imprinting
D. Semantics

Choose the correct answer from the options given below:

. A, Band C only
. Aand B only
.A.BandD only
.B and C only

1) 1

2) 2

3) 3

(4) 4

fFHfaRad | ¥ SI-B1 HINT [dbRT & ail B 3R 3ATd $d 8 2

A. JART JdP

B. 91 fd=079
C. 3@ (fwifem
D. 3% a5

A feU 7Y fahedl § 9 9g 1 3Tk 994 DT ;

1.$hdd A, B, C
2. $dd A, B
3. Hdd A, B,D
4. $dd B, C

(1)1
() 2
(3) 3
(4) 4

S T O




1[Option ID=46717] Question Description : psychology_psychology_set 1_english_q55
2[Option ID=46718]
3[Option ID=46719]
4[Option ID=46720]

Sl. No.56
QBID:14056

Which of the following is true about linguistic-relativity hypothesis?

A. Thought produces language

B. Language shapes perception and understanding
C. Language determines thought

D. Thinking and language interact

Choose the most appropriate answer from the options given below:

.Aand D only
.B and C only

. A only

.B, Cand D only
1

) 2

(3) 3

(@) 4

FHIRIT § T B TN JrUal Wabedl & aR § Ul ¢ 2

A, e - U ST BT &

B. YT el M 3R THH Bl PR <al & |
C. YINI-Fda &1 [Hyidg Sl g |

D. A IR YA RER -yy@ g

i fau e fawedl & waifds et IR &1 994 Pifoie -

1. $FaTA3MRD
2. Had B 3R C
3. hdd A

4. $ddB. C AR D

1) 1
(2) 2
(3) 3
(4) 4

= W b =

1[Option ID=46721] Question Description : psychology_psychology_set 1_english_q56
2[Option ID=46722]
3[Option ID=46723]
4[Option ID=46724]

Sl. No.57
QBID:14057

Which of the following statements related to stress are correct?

A. Anthropogenic stress refers to stressors such as crowding

"Energetic stress'

Choose the most appropriate answer from the options given below:

1. A and B only
2.B and C only
3. Cand D only
4. Aand D only

B. The impact of earth energies on human well being is called 'Geopathic Stress'
C. Stress due to the efforts of the individual to fit oneself into the design of man made objects is called

D. 'Ergonomic Stress' refers to the stress induced due to exposure to radioactive rays.




(1) 1
(2) 2
(3) 3
(4) 4

XY (drd) Y Yaled FiRad H 9 $F 9 dUd Il g 2

A AMFAIGHIGD I (@TIARNTHS) HigHrs o I (GaadhR]) o JafHd $are |

B. HIFd & 3{RIT W gedl Dl FHoll Bl YHId Bl Soritie 8 Hgl ol ¢ |

C. AR §R1 948 D1 AFG-FRHT axgail & siftded H 3FE (he) §H & WU &I “Telicd LU’ gl
Sarg |

D. ‘SHAITH® € ISl [BRUN & IGM & HRU YA €Y &l Gafid ddl g |

i fau 7T fasdhedl # O Tl IR &l 99 Hifoe :

1. $dd A 3R B
2. FAd B 3R C
3. HAAC 3ARD
4. Hdd A 3R D

1) 1
(2) 2
(3) 3
4) 4

1[Option ID=46725] Question Description : psychology_psychology_set 1_english_q57
2[Option ID=46726]
3[Option ID=46727]
4[Option ID=46728]

Sl. No.58
QBID:14058

Which of the following is true with reference to psychological stress ?

A. Stress is a temporary phenomenon

B. Stress is a subjective perception

C. Personality and stress are not related

D. A certain degree of stress is needed for optimal performance.

Choose the correct answer from the options given below:

1. A, Band C only
2.B,Cand D only
3. A, CandD only
4. A, Band D only

1

(2) 2

(3) 3

(4) 4




AAI9FIS ad & ded | ufafea s aa g 2

A. T19 Udh 3T gREeT § |

B. TG TH AN €14 § |

C. Afadd 3R 19 & & Bls T Tol § |

D. 3¥aH [H™I1e- & folt U A1 d& d41d A ¢ |

Hid fau Tt fad el § gl 3R Bl 904 DIl :

1.$hdd A, B, C
2. $ddB,C,D
3. Hdd A, C,D
4. $dd A, B.D

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=46729] Question Description : psychology_psychology_set 1_english_q58
2[Option ID=46730]

3[Option ID=46731]
4[Option ID=46732]

Sl. No.59
QBID:14059

Which of the following is true about leadership?

A. Leaders influence followers

B. Situation is not important in leadership

C. All managers are leaders

D. Transactional leaders are different from transformational leaders.

Choose the correct answer from the options given below:

.Aand D only
.A.BandD only
.A, CandD only
. A and B only
1

(2 2

3 3

(@) 4

fafaRad o 9 Aga & g o - gl g 0

A 1A STATET &1 YHIad $HRd § |

B. Adw H Ui Agdqul el el € |

C. 9l e AdIld © |

D. YAdeR] (CHYTRA) Al SURBR] (BRI Al I =g g |

i< faU U fadedi © 9 g1 IR &1 999 DIfoT :

1. FATA3MRD
2. FHad A, B 3R D
3. HAd A, C 3R D
4. Hdd AR B

(1)1
() 2
(3) 3
(4) 4

= o b =




1[Option ID=46733] Question Description : psychology_psychology_set 1_english_q59
2[Option ID=46734]
3[Option ID=46735]
4[Option ID=46736]

Sl. No.60
QBID:14060
oy

Which of the following is applicable to Fiedler's contingency model of leadership effectiveness?

A. The leader's position power

B. The degree of task structure

C. The leader-member relationship
D. The inborn traits of the leader

Choose the most appropriate answer from the options given below:

. Aand B only

. A, Band C only
.Donly

. A, Band D only
1

) 2

(3) 3

(@) 4

Aqcd GHITAAl & BISTR Bi-Toi-l AISd P [T FAfdRId & S AN I s 2

A, AdI Bl Ug-gT

B. BRI - WA &I 71 (783
C. Adl-9eH graw

D. =Idl & S-HITd 707

S S T O

i faU 1Y fasedl # 9 a4 Iugdd IR &l 98 Dol :

1. Pdd A&B
2. Hdd A, B&C
3. Hdd D

4. HddA. B&D

(1) 1

(2) 2

3) 3

4) 4

1[Option ID=46737] Question Description : psychology_psychology_set 1_english_q60
2[Option ID=46738]

3[Option ID=46739]
4[Option ID=46740]

SlI. No.61
QBID:14061

Transactional Analysis refers to the ego states such as:

A. Critical Parent, Adult

B. Parent. Child, Adult

C. Nurturant Parent, Little Professor
D. Adapted child, Deviant child

Choose the correct answer from the options given below:

1. A, B and C only
2. C and D only
3.B.Cand D only
4. A and D only

@ 1




) 2
3) 3
(4) 4

) T PR o RufT & a2
A. fdhfedhd =<, Teee
B. <, 913t8, UsScT
C. A=< R, fafed ubeR

D. 3PS =15eE, Sifdd— dEs
=< fau ¢ fasedi § O 98! 3R &1 99 HifoIe:

1.%dd A, B, C
2.%ad C 3R D
3. $hdd B, C 3R D
4. 5dd AR D

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=46741] Question Description : psychology_psychology_set 1_english_q61
2[Option ID=46742]
3[Option ID=46743]
4[Option ID=46744]

Sl. No.62
QBID:14062

In force-field analysis the counselee analyses:

A. The force one has to apply in the field to assert oneself
B. The forces that constitute one's resources

C. The force applied by the counsellor in initiating action

D. Facilitating factors and restraining factors in the situation.

Choose the most appropriate answer from the options given below:

. Aonly
.Aand C only
.Band D only
. D only

1) 1

2) 2

3 3

(@) 4

g & [a=eAvor H URTHR] Wl (-4 @ [dRayur Rl § -

d= o b =

A. 99 579 &1 WAl 94 &1 & H Tgdl 3 YId B o (o8 [ar Sirar g |

B. 9 il [l & darel & 2MAe ¢ |
C. DRATs URM DR & ¢ WRIERIEId gR1 Ygdd 94 |
D. Rufq & gurerd HR® R FRIUS SRS |

i faU Y fdedl # 9 e Iugdd IR &I 989 HifoIg -

1.$had A
2.%dd A&C
3. HddB & D
4.$dd D

@ 1
) 2




3) 3
(4) 4

1[Option ID=46745] Question Description : psychology_psychology_set 1_english_q62
2[Option ID=46746]
3[Option ID=46747]
4[Option ID=46748]

Sl. No.63
QBID:14063

In counselling. 'advanced empathy' includes:

A. Connecting islands and identifying themes

B. Identifying themes and brain storming

C. Making the implicit explicit and identifying themes
D. Connecting islands and paraphrasing.

Choose the correct answer from the options given below:

1. Aand B only
2. Aand C only
3. Aand D only
4. A,BandD only
1) 1
(2) 2
3) 3
(4) 4

RAIS H SR FHMH[T (Tedr=e 3 & g afdfad g -

A. GOl Bl SIS 3R H2i &1 ggdH

B. & &1 UgdH IR fdaR - #2F

C. 3P I Y FHA1 3R HU] DI UgaH

D. iUl &1 SIS SR HIGIdTG DT (URIBRIT)

Hid fau Tt fad el § gl 3R Bl 904 DIl :

1. hdd A& B
2. HAdA&C
3. HAAA&D
4. $ddAB&D

(1)1
) 2
(3) 3
(4) 4

1[Option ID=46749] Question Description : psychology_psychology_set 1_english_q63
2[Option ID=46750]
3[Option ID=46751]
4[Option ID=46752]

Sl. No.64
QBID:14064




The principle of Classical Conditioning is used in:

A. Token economy

B. Systematic desensitization
C. Electro convulsion therapy
D. Aversion therapy

Choose the correct answer from the options given below:

1. A and B only
2. Aand C only
3.Band C only
4.B and D only

1) 1

(2) 2

(3) 3

(4) 4

QIR (FARYD ) gDl b Riegicd b1 v FHaferfdd # gldn g -
A. Tl ghIH!

B. YoHafRd efdcidvl ( Redies St AfRegora )
C. degd 3Mals AR ( Fodg! H-aare AR )

D. faef IuaR (wawi= Avh)
Hid fau T fadedl § U et 31k &1 994 Hiforu

1. $ad A 3R B
2. Fad A 3R C
3. HAd B3R C
4. HAB AR D

(1)1
) 2
(3) 3
(4) 4

1[Option ID=46753] Question Description : psychology_psychology_set 1_english_q64
2[Option ID=46754]
3[Option ID=46755]
4[Option ID=46756]

Sl. No.65
QBID:14065

In the Transactional Analysis, Ego State Analysis involves analyzing

A.Id. Ego, Super Ego

B. Alter Ego

C. Parent, Adult, child

D. Voluntary and Involuntary Ego

Choose the most appropriate answer from the options given below:

1. Aand C only
2. B only
3.Conly

4. C and D only
1

(2 2

3) 3

(4) 4




HYouagiRe [q2adyur & o Rufd (37Ree) fazevor § fFafafad J 9 o1 - S 21 g 2

A TS, . g

B. 3fTeey 3711

C. =<, UsSee, AI50e

D. Wie5d d =5 30

[a Wt

il faU 7Y fdpedl # 9 e Iugdd TR &l 999 Hiforg :

1[Option ID=46757] Question Description : psychology_psychology_set 1_english_q65

2[Option ID=46758]
3[Option ID=46759]
4[Option ID=46760]

Sl. No.66
QBID:14066

Match List I with List IT

knowing one or more variables

LISTI LISTII
IAn mferential test used to determine effect size : i
& : g Point-bizerial
for a chi-square test; the correlation used when :
A . y 1 [correlation
lboth measured variables are dichotomous and s
: coefficient
inominal
The correlation used when one of 1ts variables
B 1s measured on a dichotomous nominal scale 1 Regression
" jand the other 1s measured on an mterval or " janalysis
ratio scale
A procedure that allows to predict an
C. jindividual's score on one variable based on I11. [Partial correlation

IA correlational technique that involves
imeasuring three variables and then statistically
" removing the effect of the third variable from
the correlation of the remaining two variables

" |Phi-coefficient

Choose the correct answer from the options given below:

1. A-1V, B-11, C-IL D-I
2. A-IIL, B-II, C-1V, D-I
3. A-IL, B-1V, C-IIL, D-I
4. A-1V, B-L. C-II, D-III

1)1

(2) 2

(3) 3

(4) 4




G 11 gl 119 e Sifon

T I
Gl T oR] & [gMTel g ATd e &R Ugad
A [TEYeY; BTe W GH&0N og YHTE ATHR & 1L [feg fgufdie gy
et & fa s uiam |
TRI & 9§ U 1 HIU [ HTol A11d AT U8
B. 3R GHX @1 A0 SaRTe S4al ST |- L [FEE fE=ey
TR g T2 T Tegay |
T O1 HHUE DRI B 39dl B AR U2 [
C. [oafdd & T R W Undic] &1 Higswarht e oL |3 uggey
CREE]
U Yegey dh-l® raigd di-gl Bl - g
D. [qe04Td &l 9 & U8 Ja¢ I T @R & JuE V.  [BE e
%] Gifee [ =0 U e Iiaa g |

fafeiRad faeedl & O Tel 3R &1 98 B :

IV, B-11. C-III, D-1

111, B-II, C-1V, D-1

-II. B-1V, C-1I1. D-1
4. A-IV, B-1, C-II, D-III

(1) 1

(2) 2

(3) 3

(4) 4

LA
2.A
3.A

1[Option ID=46761] Question Description : psychology_psychology_set 1_english_q66
2[Option ID=46762]
3[Option ID=46763]
4[Option ID=46764]

Sl. No.67
QBID:14067

Match List I with List IT

LIST I LIST IT
A_ [Phenomenology I. |Constructionist Approach
B. [Narrative analvsis 1L [Social media
C. |Grounded theorv II1. [Eidectic variation
D [Netnographic Analysis IV |Theoretical coding

Choose the correct answer from the options given below:

1. A-I. B-III. C-IV, D-II
2. A-II, B-IV. C-III, D-I
3. A-III. B-1. C-IV, D-11
4. A-IV, B-1, C-III, D-II

(1) 1

() 2

(3) 3

(4) 4




G 11 gl 119 e Sifon

T 1 T I
FeaIfpaigea | L REEER SurH
R faRewy | 1L [ J1Ee
roies gld | 11 [Hddcd] IR

et . .
s V. [gifas e

frafafad fdeeal & O gl SR &1 94 SIS -

O 0w

1. A-I. B-III. C-IV, D-II
2. A-II, B-1V, C-III. D-I
3. A-TII. B-1. C-IV, D-II
4, A-IV, B-1, C-1III, D-II

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=46765] Question Description : psychology_psychology_set 1_english_q67
2[Option ID=46766]
3[Option ID=46767]
4[Option ID=46768]

Sl. No.68
QBID:14068

Match List I with List IT

LISTI LISTII
Son—pa.ta.metric test used to determine Wi bty
A |differences between three or more groups on a E et ?
ranked variable for between subjects design.
INon-parametric test for seeing whether the
B mumber of times scores from one sample are I [(Wilcoxon Signed
" Jranked significantly higher than scores from " [Rank Test
another unrelated sample.
‘ [Non-parametric test for assessing whether the i ruskal Wallis
C. |scores from two samples that come from the III. et

satne or similar cases differ significantly.

[Non-panometric test for determining whether
D. [the mean ranks of three or more related samples | IV. [Friedman's Test
under two factors differ significantly.

Choose the correct answer from the options given below:

CA-IIL B-IIL C-1IV, D-1
.A-IIL B-1. C-1I. D-IV
ATV, B-I0, C-II0, D-1
.A-1 B-1I1, C-IV, D-II
11
) 2
(3) 3
(4) 4

e Lo b =




G 11 gl 119 e Sifon

T I

[ a1 ST Tgel & o & e & MR

foed= Tavided 5o g MRd MW

5d Ugad TR Urdicrs Gia |

T fegeT oam

08 ¢+ o ford fob fohaT o arel IRUT= s
TR1&0T &1 U T0d § U 3id el R U@
3 Tdg Uiud U U 3@ ¥ Aanieey
 SfAF |

e es 1o o

. [ATEfeie ULiET @7 U O §HH ol §

O SAThci d- o [o1E (o ehdl Siarel 1%
&0 U & e & ofd! § s SR E |

L

EASINENIR A

 |fie gefta 0 & we el | aafde

T8 YT @ & foTd 1o Topa SIHare 1%
Tafcid URI&IT &1 & R | b e o a1

SR |

v

RIS SHT 0%

frafafad fdeeal & 9 98l I &1 904 SIfoe -

1. A-III, B-II, C-1V, D-1
2. A-III, B-1, C-I1, D-IV
3. A-TV. B-I1, C-III, D-I
4, A-1, B-11. C-IV, D-II1

1) 1

) 2

3) 3

(4) 4

1[Option ID=46769]

2[Option ID=46770]
3[Option ID=46771]
4[Option ID=46772]

Question Description : psychology_psychology_set 1_english_q68

Sl. No.69
QBID:14069

Match List I with List IT

LISTI LIST II
(Attitude Scales) (Psvchologists)
A |Summated Rating scale 1. [Thurstone
B. |Semantic differential scale I Guttman
C. [Equal Appearing Interval Scale II1. |Likert
D. |[Cumulative scale IV. |Osgood

Choose the correct answer from the options given below:

1. A-1V, B-1, C-II, D-1II

2

CA-IIL B-1IV, C-1, D-1I

3. A-III, B-1V, C-I1, D-1
4, A-IV, B-1, C-1II, D-II
1) 1
) 2
3) 3
(4) 4




G 11 gl 119 e Sifon

,@gl T I
ML e

(

A e L pEH
SEACIEEEE
B aigmen | [
A Ui
C. [giHdrell Sard | L [ferdd

D. [[@adiagE | v [HErs

frofafad fasmedl & O 98! I &1 904 SIS -

1. A-IV, B-1, C-II, D-1II
2. A-III, B-IV. C-1. D-II
3. A-III. B-IV, C-II, D-I
4. A-IV. B-1, C-III. D-II

11

(2) 2

(3) 3

(4) 4

1[Option ID=46773] Question Description : psychology_psychology_set 1_english_q69
2[Option ID=46774]
3[Option ID=46775]
4[Option ID=46776]

Sl. No.70
QBID:14070

Match List I with List IT

LISTI LISTII
Tumer's |An imbalance mn X chromosome where two X
A L [= : : 3
syndrome from the ovam combine with a Y-sperm
B. Fragile X II. |An extra 21st chromosome
syndrome

Ovum containing no X chromosome is fertilized

C. [Down's syndrome| [1I. Dan Y arie «poe

linefelter

: IV. |The X chromosome is compressed or broken
svndrome

Choose the correct answer from the options given below:

1. A-1. B-III. C-II, D-IV
2. A-II1, B-1IV, C-I1, D-1
3. A-IL, B-II1. C-1. D-IV
4, A-IIL, B-II, C-1IV, D-1

(1)1

) 2

(3) 3

(4) 4




G 11 gl 119 e Sifon

T 1 A 1T

A ol -dagum @& | L % Exﬂwi mm%@lqiﬁ
ETH 9 IfHd Bid &

B. [hellgd - X Hefaio L (3ifdiiad 21dT SET]
ST o iy M
X I[HI0] e sl
C. [BT3H Ha&m Il g Ud X WH 4R

%mﬁaﬁﬁgﬁﬁﬁﬁﬁ

D. eI (e - Heiemy IV g%;*_g;g feam

fafeiRad faeedl & O Tel 3R &1 98 B :

.A-1, B-1II, C-II, D-IV

. A-IIIL B-1IV, C-I1, D-1

.A-IL B-III, C-1, D-IV
4. A-III, B-II, C-1IV, D-1

(1) 1

(2) 2

(3) 3

(4) 4

1
2
3

1[Option ID=46777] Question Description : psychology_psychology_set 1_english_q70
2[Option ID=46778]
3[Option ID=46779]
4[Option ID=46780]

Sl. No.71
QBID:14071

Match List I with List IT

LISTI LISTII

"I Memory for general knowledge and facts about
A = I. [the world as well as memory for the rules of logic

MMemory

- that are used to deduce other facts.

Eoisodic Memory centered on a specific important event
B [P E II. |that are vivid as if thev represented a snapshot of

NMemory :

the event

g [Basubnlb I [Memory for skills and habits

Memory =
D Procedural v Memory for events that occur in a particular time,

" memory " lplace or context.

Choose the correct answer from the options given below:

1. A-I, B-II, C-IV, D-III
2. A-1, B-1I. C-III, D-IV
3. A-IL, B-II1, C-1, D-IV
4. A-1. B-IV, C-1I. D-1I1

11

(2) 2

(3) 3

(4) 4




G 11 gl 119 e Sifon

T 1 gl 11

[ay & Teiea aH=
A REMHA L %ﬁﬂgwﬁ
31 T2l &l A
- | [ ardi g
EEPEESESIE]

[T U Gy Eidt
B. QBUEFHED Hid I [§ % AMId ge @t
?ﬁﬁuﬂamqﬁ

C e it gw%%mua"&m‘ri’f?ia’w

D. [rfaEs | V. %mz%

frafafad fdeedl & O 98l IR &1 904 SIS -

1. A-L, B-1I, C-1V, D-III
2. A-1, B-11, C-II1, D-IV
3. A-II, B-III, C-1, D-IV
4. A-I, B-1V, C-II, D-1II
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=46781] Question Description : psychology_psychology_set 1_english_q71
2[Option ID=46782]

3[Option ID=46783]
4[Option ID=46784]

Sl. No.72
QBID:14072

Match List I with List IT

LISTI LISTII
A |Thurstone [. [Triarchic Theory
B. |Gardner I1. |Set of seven primary mental abilities
C. [Sternberg III. Multiple intelligence
D. 1P Das IV. [Pass Model

Choose the correct answer from the options given below:

1. A-IV. B-1, C-II. D-III
2. A-IL, B-1, C-III, D-IV
3. A-IL, B-III. C-1. D-IV
4. A-II, B-III, C-1IV, D-I

1) 1

(2) 2

(3) 3

(4) 4




G 11 gl 119 e Sifon

T 1 _'\'fﬁll
A prdee I @;ﬁ@i‘s’ i)
Td MYfAS AFES
B TSR B g3 @1 9=l
C. feAet I FEd g
D. [o W g™ IV. [0/ (PASS) HIgd

fFufoRad faweal & T Tt 3R &1 9894 Hifoe -

1. A-IV, B-1, C-I1. D-III
2. A1, B-1, C-II1, D-IV
3. A-II, B-II1, C-1, D-IV
4. A-II, B-III, C-1V, D-1
(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=46785] Question Description : psychology_psychology_set 1_english_q72
2[Option ID=46786]

3[Option ID=46787]
4[Option ID=46788]

Sl. No.73
QBID:14073

Match List I with List IT

LISTI LISTII
A [nductive 1 Inferring specific instances from general
" jreasoning " |principles or rules.
B Deduc;i\'e 1 Cognitivc? short-cuts that provide acl:_aquatel}'
" lreasoning " laccurate inferences for most of the time.

Inferring general principles or rules from

C. [Heuristics I 3
specific facts

T |l v Apr_oceclure that consists of a series of steps to
solve a problem.

Choose the correct answer from the options given below:

1. A-IIT. B-IV, C-II, D-I
2. A-1, B-11, C-1V, D-III
3. A-IV, B-III, C-II, D-I
4, A-TIL, B-1. C-I1, D-IV

(1) 1

(2) 2

(3) 3

(4) 4




el 1T YT 1 9 e SISy
T 1 a1

T eial ar
EREIEHEIE
ERTIl &1 A
B |
IS WA 3u™
S Tl YD TE T W
- B I w2 ade
STHF YEH a6 |
[ary qul ° 9H
C. [EMa® TMy-yomet | oL (il 3t e &
SHTHH B |

98 Uld, g U

D. [HeHEl - (@@RE)| IV w&mg%ww
RIIRGEN

fafiRad faedl # O Tel 3R &1 981 B -

A PFHATHS dHon I

. A-III, B-1V, C-1I, D-1

- A-L B-H, C-IV, D-TI

. A-1IV, B-II, C-1I, D-1
4. AL B-L C-II, D-IV

)1

(2 2

(3) 3

(4) 4

1
2
3

1[Option ID=46789] Question Description : psychology_psychology_set 1_english_q73
2[Option ID=46790]
3[Option ID=46791]
4[Option ID=46792]

Sl. No.74
QBID:14074

Match List I with List IT

LIST1I LISTII

[Emotions are largely innate reactions to

A s ; I |Cannon-Bard theory
certain stimuli =
B [Emotions result from perception of 1 Schachter’s two-factor
" lautonomic arouvsal " [theory

[Emotion is inferred from arousal and then I

R (e : . [Evolutionary theories
labelling it after interpretation =

[Emotions originate in sub-cortical areas of

S et I'V. [Tames-Lange theory

Choose the correct answer from the options given below:

1. A-II, B-1. C-IV. D-II1
2. A-III, B-1IV, C-I1. D-1
3. A-1 B-II, C-II1. D-IV
4, A-IV, B-11. C-1, D-1I1

1) 1

() 2

(3) 3

(4) 4




G 11 gl 11 9 e Sifon

T 1 el 11
ﬁl%ﬂﬁra%f[juw%
CEEICE: 8 ;
|
T W@ o &
5 RGeR @1 G- ORS
B. [N&O & OROM B | IL .
g | e
ool § HaT @l
A o T §
C. (IR 3G oRkuyrfig n1 3 faerdia fagia
@ @ alG afed
Fd el
a7l Sl HiETsh &
D RUuo™ &g AU = B e A
S sl el

fafiRad faedl # O Tel 3R &1 981 B -

1. A-IL, B-1, C-IV, D-III
2. A-IIL, B-1IV, C11, D-1
3. A-L B-1I, C-III, D-IV
4. A-IV, B-II, C-I, D-III

1

() 2

(3) 3

4 4

1[Option ID=46793] Question Description : psychology_psychology_set 1_english_q74
2[Option ID=46794]
3[Option ID=46795]
4[Option ID=46796]

Sl. No.75
QBID:14075

Match List I with List IT

LISTI LIST II
i L Bottqm—up Theories vs Top-down theories of
happiness
Diener II. [Broaden and Build Model

lAntonovsky II1. [Hope theory
. [Fredrickson IV |Salutogenic Model

ofal=] »

Choose the correct answer from the options given below:

1. A-IIT, B-1. C-IV, D-II
2. A-III, B-II, C-1, D-IV
3. A-IIL, B-III, C-1V, D-1
4. A-1, B-III, C-I1, D-IV

(1) 1

) 2

(3) 3

(4) 4




G 11 gl 11 9 e Sifon

T 1 T 11

dlcH-2Y 9919 219

A [EE e .
TS 3R e

B. [gl5R II. HIST (Broaden and
Build)

C. [THR®! 11 (3= Ngid

D [h3fEEd V. [fegeiH® disd

fofafad Aol § O I8 SR &1 994 SIS -

1. A-III, B-1. C-IV, D-II
2. A-III, B-II, C-1, D-IV
3. A-II, B-II. C-IV. D-1
4. A-1, B-1II, C-I1, D-IV

1) 1

) 2

(3) 3

(4) 4

1[Option ID=46797] Question Description : psychology_psychology_set 1_english_q75
2[Option ID=46798]
3[Option ID=46799]
4[Option ID=46800]

Sl. No.76
QBID:14076

Arrange in sequence the following scales of measurement Ordinal, Nominal, Ratio and Interval according to
properties of scale

A. Identity

B. Identity and Magnitude

C. Identity, magnitude and equal unit size

D. Identity, magnitude, equal unit size and absolute Zero

Choose the correct answer from the options given below:

(4) 4

AMY B (FaiRad AR hHyED, I ST d SiaRie DI 37 UM & 3R dRRUd PIU:

A. UgdH

B. UgdM 3R [dWR

C. UgdH, AR 3R T4 3Hhl ATHR

D. UgdH, [dXR, YA 3l MHR d FRUE YA

< f3U 71U fahedi § 9 Hgl 3Tk &1 99 PIIu:

W
& WS

0pww
wwop
CQoro

&

@ 1
() 2




3) 3
(4) 4

1[Option ID=46801] Question Description : psychology_psychology_set 1_english_q76
2[Option ID=46802]
3[Option ID=46803]
4[Option ID=46804]

Sl. No.77
QBID:14077

What is the correct sequence in development of a psychological tool?

A. Establishing reliability
B. Item analysis

C. Developing norm

D. Establishing validity.

Choose the correct answer from the options given below:

A, B D;C

»

D
17 44
2

»

L.
2.
1
4.

bd:»-b:j
UU:JF)

»” o2

(1) 1
() 2
(3) 3
(4) 4

HA1a371-eh IYBROT ARy BT BT ol SffshH 1 B 2

A. Tayg-iadr wifud s
B. ¢ fagayu

C. A [ah Iy HAr

D. JdT AT ST

i [GU U [dded| § U gl 3R &I 99 Difve:

1.A.B.D.C
2. B, A D, C
3.A,D,C,B
4B, A CD

(1)1

) 2

(3) 3

(4) 4

1[Option ID=46805] Question Description : psychology_psychology_set 1_english_q77
2[Option ID=46806]
3[Option ID=46807]
4[Option ID=46808]

Sl. No.78
QBID:14078




What is the sequence of steps involved in conducting Radio Frequency lesion by using stereotoxic apparatus ?

A. Drill a hole in the skull of the rat using coordinates from the stereotoxic atlas.

B. Pass on radio frequency current through the tip of the insulated electrode to the brain area.
C. Close the hole on the skull of the rat and provide appropriate medical treatment.

D. Fix the head of the rat on the stereotoxic apparatus

E. Push an electrode to the appropriate depth of the brain till it touches the specified brain area.

Choose the correct answer from the options given below:

1. AB,D.E.C
2.C,A,B,D.E
3.D,AE, B, C
4.B,D,ACE

1) 1

) 2

3) 3

(4) 4

AT (Sterotoxic) ITDHRUN & YA I At 3mafi faeffa B3+ & TwAferd =Ro &1 Igl A 1 g 2

A. Jg & DU H LR i (Rfaarg=dsd) A urd e & Ut 8 ©¢ Sl

B. faggd - Aford faggy @dacie) & RR & mierd 4 ufkiss & 1 el Sdi UR1 yaifed Bl

C. g D DU & B& Bl §-¢ DT AR IuGad b ITER IucTsH DRI

D. AfGA =S IS0 W g & [T &I FHMT

E. [aggay & AfkTsh H Sud Te¥Tg d Y-l difch dg HRKISh & & MR fafRmy & of wu=f ®A
o |

HId fau T fash el § U et 3k Bl 98- HifoTg:
1.A,B,D,E,C
2.C,A,B,D,E
3. DA B BC
4.B,D,A,C,E
1) 1
(2) 2
(3) 3
4) 4

1[Option ID=46809] Question Description : psychology_psychology_set 1_english_q78
2[Option ID=46810]
3[Option ID=46811]
4[Option ID=46812]

Sl. No.79
QBID:14079

Arrange the following in order of their occurrence in observational learning.

A. Retention

B. Afttention

C. Reproduction
D. Motivation

Choose the correct answer from the options given below:

Wb
Wwpe O
FPOoW
Ur")Ur")

A,
€,
oy
JE

.i_\.

1) 1
) 2
3) 3




(4) 4

& i H Fafeiad gal &1 3% gfed g19 & % # oudiyd Hifse:

A. YR
B. 3{d¥l+d

C. oI
D. 3fHURON

i fu a1t fasd el § 9 9l IR &1 99 Hifoie -

W
)

e

7O ww
apop
o e

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=46813] Question Description : psychology_psychology_set 1_english_q79
2[Option ID=46814]

3[Option ID=46815]
4[Option ID=46816]

Sl. No.80
QBID:14080

Arrange the bodily consequences of stress in the order as proposed by Hans Selye

A. Exhaustion
B. Alarm

C. Resistance
D. Hardiness

Choose the correct answer from the options given below:

D

'3

L.
2.
3

Udbdbdt‘i
nnNnw

JEA
s,
L
b

-34 -

(1)1
(2) 2
(3) 3
4) 4

aad & FafRad RIS giRomH! o1 gi I gRT URdlidd SHITHR AaRyd Bifog:

A, =y
B. 3[alH
C. ulRiY

D. Tgdl (BTFS-)
=< fau U fasedi § U8l IR &l I9 Hifoie:

C,A
D

W =
W W WU
r."\,ﬁr."\bd
Wi

(1)1
(2) 2
(3) 3
(4) 4

1[Option ID=46817] Question Description : psychology_psychology_set 1_english_q80




2[Option ID=46818]
3[Option ID=46819]
4[Option ID=46820]

Sl. No.81
QBID:14081

The Four Stage theory of creativity was proposed by Joseph Wallas. Arrange these stages in a sequence.

A. Preparation
B. Incubation
C. Illumination
D. Verification

Choose the correct answer from the options given below:

1.LAC.B.D
2.A,B,C.D
3JAD.B.C
4, A,C,D,B

1) 1

() 2

(3) 3

(4) 4

ST aTdrd gR1 Wduifed gorTalddl & dR-=RU & G & S8R Fufaiad =@=ul oI el oa o
TRT |

A ORI

B. S&HT/ 3R

C. uelfa
D. ST

4 feu Y faedl § 9 9el STk 994 DIfoIT:

B =
P P
NPwo
orpas
WooU

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=46821] Question Description : psychology_psychology_set 1_english_q81
2[Option ID=46822]

3[Option ID=46823]
4[Option ID=46824]

Sl. No.82
QBID:14082

Arrange in order the Hierarchy of Needs by Maslow.

A. Physiological

B. Esteem

C. Affiliation

D. Safety

E. Self-actualization

Choose the correct answer from the options given below:

A E.C,B,D

)

o
NwWo
Onw
Wt




) 2
3) 3
(4) 4

AR srazgadrsil &1 ARGl & UGHHHIUR HdRId SIT;

A. IRR fobaras
B. T

C. gdeA

D. TR&TT

E. 3TARIG

=< f4u T¢ fahedl § O Uel 3R &1 99 DIIT:

1. AAEC,B,D
281 CRBE
3.AB.D.C.E
4. A, C,E,D,B

1) 1

) 2

(3) 3

(4) 4

1[Option ID=46825] Question Description : psychology_psychology_set 1_english_q82
2[Option ID=46826]
3[Option ID=46827]
4[Option ID=46828]

Sl. No.83
QBID:14083

The correct sequence of a person who is hungry in terms of motivational cycle is:

A. Disequilibrium

B. Reaching goal

C. Instrumental behaviour
D. Homeostasis

E. Consumption of food.

Choose the correct answer from the options given below:

1. A,C,B.E.D
2.D.A B E, C
T OAB1DUE
4. E D AC,B

(1) 1

(2) 2

(3) 3

(4) 4




oIl fdd TR =k & folu Areiid gl 39 fofe FafeiRad o1 9g! v 1 gRm 2

A. faamg

B. @&d & Tg ol

C. Afffi® aadgr

D. GHR

E. \re-uard &1 3gYNT

i feu e fah el O I 9l IR &1 98- Difoie:
1.A,C,B.E,D
A BEC
3.C,A,B.D.E
A.E,D.A CB
(1) 1
(2) 2
3) 3
4) 4

1[Option ID=46829] Question Description : psychology_psychology_set 1_english_q83
2[Option ID=46830]
3[Option ID=46831]
4[Option ID=46832]

Sl. No.84
QBID:14084

As per Tuckman's group development model, identify the correct sequence

A. Norming
B. Storming
C. Performing
D. Forming

E. Adjourning

Choose the correct answer from the options given below:

Foon
D ww
nnnb
ot

AW
SR

(1) 1
(2) 2
(3) 3
(4) 4

chH & G fdhrg Maxl & SUR Ul ohH Bl Ugd HIST |

A, AFSIT ST (GI1H)
B. 3Maf3d &34 (TIfHm)
C. feare 1 (IR
D. Y ¢ (hIfHT)

E. ¥TH HIAT (TSSITT)

HId fau T fadh el § U el 3R Bl 994 BifoTe:
LA CBD.E
3, A D,B,C.E
3.D,B,A,C,E
4.D,A.B.C,E
(1) 1

) 2




3) 3
(4) 4

1[Option ID=46833] Question Description : psychology_psychology_set 1_english_q84
2[Option ID=46834]
3[Option ID=46835]
4[Option ID=46836]

Sl. No.85
QBID:14085

Arrange the following from early to later development

A. Autonomy versus shame and doubt
B. Identity versus role confusion

C. Industry versus inferiority

D. Initiative versus guilt

Choose the correct answer from the options given below:

1.A.C.D.B
2D, C.A B
3. C.DAB
4. A.D,€.B
(1) 1
() 2
(3) 3
(4) 4

AR oRiH® 9 o{ed &1 gu fder &1 Hafyd SIS

A. W §9919 A1l 3R Heg
B. UG §-1TH Y#HPT f[auH
C. ¥ 9419 gl

D. Fqcd (ITHHU) SH Tl

i< feu 7T f[de el # O et 3R &1 994 Hifole:
LA CD.R
2.D.C.A.B
3.C,D.A.B
4.A,D,C,B
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=46837] Question Description : psychology_psychology_set 1_english_q85
2[Option ID=46838]
3[Option ID=46839]
4[Option ID=46840]

Sl. No.86
QBID:14086

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Effectiveness of psychological research increases if multiple methods are used by the researcher.

Reason R: Triangulation helps in relating information collected from different methods to arrive at meaningful
inference.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are true but R is not the correct explanation of A
3. Aistrue but R is false

4. A is false but R is true
1) 1




(2) 2
(3) 3
(4) 4
19 &1 B [GUTY §: Uah SUHUT (Assertion A) & &Y H [TRAd § ol GURI 3D BRUT (Reason R) b FY
e

SHTHDY A : ule ey dl gRT &g A &1 yaiT i1 Sl g df Aoz 2y & yHifddl J g gidi g

DRV R : YIS AN W Ug=- o (o¢ fafie faferi § Uepitid ga=1 & e # ¢~ 9 gldl ¢ |
IWRIFd HYT & 3HTdid H, i U 71 [dbedl # § e Iugdd IR D1 98- DI

CASRRIHAITTE IR R A DI Uol ARSATE |
CARREFAI I ¢, dibA R, A DI Ul AR ol ¢ |
AT g AP R 3T el § |
CANA G, AP R IS |

(1)1
(2) 2
(3) 3
(4) 4

bl D =

NN

1[Option ID=46841] Question Description : psychology_psychology_set 1_english_q86
2[Option ID=46842]
3[Option ID=46843]
4[Option ID=46844]

Sl. No.87
QBID:14087

Given below are two statements:

Statement I : Posterior of pituitary gland secretes antidiuretic hormone which stimulates kidneys to reabsorb
water to prevent dehydration.

Statement II;: Cortex of adrenal glands located on the top of Kidneys helps in uterine contraction during child
birth and release of milk through mammary glands in females and contraction of sperm duct during ejaculation in
males.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement IT is false

4. Statement I is false but Statement II is true
1
) 2
(3) 3
4) 4

A ST U fdu U B:

DY 1 : RN T & Ugf YT ¥ Tt SRICH THIA o1 ¥d1d Bl & il fFoieiibul J d< & [l TRal ol
I Bl ¢ fb d STad BT YA:3aRNYH H b |

DY 11 : TRal D SR R ffUgad (TS) TRl 1 dedpe Afgarsil # s=i & ST o T THIRR &
YA 3R T-UAl & gl Faha R YNl # Sad- & 9HY YHT0j-ATD] & pa H TgRIal ddl g |

JURIG] HUT & 3MdlDp A, 4id (4T U [dhedl & U Ug! 3R BT 99 HIfoiu:

1L FYFIMR I 9 &

2. FYF I AR I aHI 3 &

3. FYA 1T g, Al HYUA 11 3T ©
4. U1 AT ¢, Al HYT 1 TT G




(1) 1

2) 2

3) 3

4) 4

1[Option ID=46845] Question Description : psychology_psychology_set 1_english_q87
2[Option ID=46846]

3[Option ID=46847]
4[Option ID=46848]

Sl. No.88
QBID:14088

Given below are two statements:

Statement I : In a figure-ground perception, the stimulus with two or more distinct region, the region seen as
figure contains the object of interest and the other region is perceived as the background.

Statement II: Figure-ground perception can be ambiguous.
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
11
) 2
(3) 3
4) 4

A ST P fdu e B

DY 1 : Uh 3P -MYR YT H 1 a7 31feep fafry &1 drel Ieiud | T & I sfipfd & 9 H <dr
ST ¢, fore® i @1 g gHIfdy gidl & IR 3= &3 DI Y§Y[H & U H Sl $i Sl ¢ |

DY 1 : HPId-HUR Y&l ierendi gl ghdi g |
SWRIGd HYF & HTcdlh |, =i ST T fab el # ¥ ¥ Iugad 3R &1 94 Hifolg :

| DU MR IS IgI @
2. HYF1 3R I &HI Tdd ©
3. HYH I gl o, dichd U I ITAd ©
4. U1 g, dihd U1 Tel &

1 1
) 2
(3) 3
(4) 4

1[Option ID=46849] Question Description : psychology_psychology_set 1_english_q88
2[Option ID=46850]
3[Option ID=46851]
4[Option ID=46852]

Sl. No.89
QBID:14089

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.
Assertion-A: Monthly salary of Government employees can be termed as a reinforcement at workplace.
Reason-R: Variable ratio, as a partial reinforcement schedule, leads to higher rate of responses.

In the light of the above statements, choose the most appropriate answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is not the correct explanation of A
3. Ais true but R is false

4. A 1s false but R is true




(1) 1
(2) 2
(3) 3
(4) 4

f1 € DU QU T B: U AHIHDYT (Assertion A) D =0 H fiRdd 8l GERI 3HD BRI (Reason R) b =Y
H:

JMYFUT A : IRBRI HHANGT & ATRGD da- ] PIARIT DT UGciIH 0 Fgl off Gbdl g |
DRUR : AP FIABIT ! b Y H TR UId 3fehdl Dl IR &R D HRD &1l ¢ |
SWIad HUF & AP H, i ST U fdhed] § F Ugl 3R B 99 HIflU -

1.ARRGHI UT ¢ AR R A DI Uol ARA &

2. ARREAI T g, AfFT R, ADI Tgl AR ol &
3.AYAGE, AiPAR AT

4. A3MFAE, AFIRII

11
(2) 2
(3) 3
(4) 4

1[Option ID=46853] Question Description : psychology_psychology_set 1_english_q89
2[Option ID=46854]
3[Option ID=46855]
4[Option ID=46856]

Sl. No.90
QBID:14090

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.
Assertion-A: A person who has type A personality experiences high stress.

Reason R: Research shows evidence for correlation between personality and stress.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is not the correct explanation of A
3. Ais true but R is not false

4. A is false but R is true
11
(2 2
(3) 3
4) 4

19 ST HUA UL § : U HHDHU (Assertion A) & U H [AIRAT g ol GERT 39D BRI (Reason R) & &Y
H:

YDA A - T U1 Al f57H BT Afdklcd 12U A dTdll 8l 6. dg 3= Ufciad Pl 3{Hd Pl g |

PHRUIR : Y, Al 3R Ufdad & 79 Tgudy & 916l gi- &l e2ldl g |
SWIad HUF & AP H, i ST U fdhed] § F Ugl 3R B 99 HIflU -

1.ARREAITI T AR R A DI Tg! ARSAT &
2. A 3R R SHI I g, dfdT R AP IG5 ARS8l ©
3.ATI .. dfPAR 3T ©
4. AT . AfPIRII S
(1) 1
(2) 2
3) 3




(4) 4

1[Option ID=46857] Question Description : psychology_psychology_set 1_english_q90
2[Option ID=46858]
3[Option ID=46859]
4[Option ID=46860]

Sl. No.91
QBID:14091

Read the given paragraph and answer the questions that follow:

An experimenter conducted a study on a group of children in order to find out their development level. In his
study he provided two clay balls and took their agreement that the two balls are of equal size. Then he changed
the shape of one ball to a flat shape in front of the children and asked which out of the two shapes containd more
clay. Few children responded that the flat shape contained more clay. Later he asked another question as follows:
"If an aeroplane is called an elephant, can it fly?" Few children answered "Yes it can fly".

fafead e &l gfew a wy & 3R <o

Ush YAl A o=l & U g D1 3e0d a1 difch I1ch (A8 & TR &1 Udl @1 Sl Feb | 30
e H I8 et i) &1 <1 i off $fiR o= b1 wgfd o ol fb Sl g §HIM SR 31 8| fthy 39+
=1 & YA T Tia D1 HMBR daah Fucl B fadl 3R YD1 &1 el 3piagl | I fhaH i e
ISl 82 $© Sl 4 IR [T o 9uet onrepicl H sifee fap-t g1 ¢ | fh 39+ 1 &4 # U 3 U

I8 ;
<7fe fehdfl garg SgTet 1 grell el St 1 I8 3§ Wbl g 2 ™
P S=1 4 IR fadn <&, 78 I qpdl g 17

The children who answered the Aeroplane-elephant question correctly come under the stage of:

1. Concrete operational stage
2. Intuitive Operational Stage
3. Formal Operational stage
4. Preoperational Stage

1

(2 2

(3) 3

(4) 4

g STgll - g1l U &1 Ual IR o d1d a=d 9 H I foh g a1 d 31 § 2

1. ¢ Gish AT 3=l
2. JURTHD FlhaTdHD T
3. 3TETR® TihATHD TR
4. Yd-GichTHD Sfa=y]

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=46861] Question Description : psychology_psychology_set 1_english_q91
2[Option ID=46862]
3[Option ID=46863]
4[Option ID=46864]

SlI. No.92
QBID:14092




Read the given paragraph and answer the questions that follow:

An experimenter conducted a study on a group of children in order to find out their development level. In his
study he provided two clay balls and took their agreement that the two balls are of equal size. Then he changed
the shape of one ball to a flat shape in front of the children and asked which out of the two shapes containd more
clay. Few children responded that the flat shape contained more clay. Later he asked another question as follows:
"If an aeroplane is called an elephant, can it fly?" Few children answered "Yes it can fly".

fafeiad e &l gfew a wy & 3R i

Ush YAl A =l & U g D1 &g [l difch I1ch [ADT8 & TR &1 Udl @1 Sl Feb | 30+
g o 39 faeb-it gl 1 al 7ie of 3R 9= Dl eafd o ol b i 7ic a1 bR &l g | [h I
=1 & YA T Tia D1 HMBR daah Fucl B fadl 3R YD1 &1 el 3piagl | I fhaH i e
et g2 T a=ll -1 ITR (&A1 fas Iudt Siepia # Sl el [Fet g | R 38 5 U H U o= U=A

gal:
<7fe ferdfl garg STgTet 1 grell e St 1 I8 3§ Wbl g 2 ™
S Sl 4 IR a1 <81, U8 IS gl g |7

The clay ball experiment measures children's ability of

1. Object Permanence
2. Egocentrism
3. Conservation
4. Animism
1
(2 2
3) 3
(4) 4

ferep=it forgt ol T aren waivT sl ol 9 forfad & 9 o1 &t vl 1 A19ar g 2

1. 9% R
2. ghsdlc
3. TR&J0T
4. Sitgdrg

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=46865] Question Description : psychology_psychology_set 1_english_q92
2[Option ID=46866]
3[Option ID=46867]
4[Option ID=46868]

Sl. No.93
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Read the given paragraph and answer the questions that follow:

An experimenter conducted a study on a group of children in order to find out their development level. In his
study he provided two clay balls and took their agreement that the two balls are of equal size. Then he changed
the shape of one ball to a flat shape in front of the children and asked which out of the two shapes containd more
clay. Few children responded that the flat shape contained more clay. Later he asked another question as follows:
"If an aeroplane is called an elephant, can it fly?" Few children answered "Yes it can fly".

[Frafead e 1 uley a uy & IR GIfoTg:

Ush YAl A o=l & Ueh g D1 3ead [bdl difcb I1ch [ADT8 & TR 1 Udl A1 Sl Feb | 30+
g H I faeb-it {71 D1 &l 7ie of 3R a=df DI Yeafd o ol b Sl Tic a1 bR &l g | [h I
Sl & YA U Tic 1 HBR daeieb: Fuel B [l 3R gl &1 el sidpfagl | J foad ofts fas
fAct 82 o o= 1 IR faaT fob Iudt ofiepia # sifefe el gt § | thr 3T 95 &0 # U o U=A

PE1E
<7t ot gars STeTel i Tt ST SITY dl 7 9% 3§ Wbl g 2
P Sl 4 IR f&a1 gl 9g IS Ybdi g 17




The psychologist associated with the above experiment:

1. Vygotsky
2. Piaget
3. Bruner
4. Bandura
11
) 2
(3) 3
4) 4

U YA Y eled Hag-e M H A BTG 2

1. (D]
2. TU3irol
3R
4. 915X
1) 1
(2) 2
3) 3
4) 4

1[Option ID=46869] Question Description : psychology_psychology_set 1_english_q93
2[Option ID=46870]
3[Option ID=46871]
4[Option ID=46872]

Sl. No.94
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Read the given paragraph and answer the questions that follow:

An experimenter conducted a study on a group of children in order to find out their development level. In his
study he provided two clay balls and took their agreement that the two balls are of equal size. Then he changed
the shape of one ball to a flat shape in front of the children and asked which out of the two shapes containd more
clay. Few children responded that the flat shape contained more clay. Later he asked another question as follows:
"If an aeroplane is called an elephant, can it fly?" Few children answered "Yes it can fly".

e eiw 1 ufew a Uy & IR i

Ush YAl A o=l & U g D1 3e0d a1 difch I1ch (A8 & TR &1 Udl @1 Sl Feb | 30
g B I farep-it gl 1 al ¥ie of 3R a=di DI eafd o ol o i Tic Ga bR &l g | [ I
=1 & YA T Tia D1 HMBR daah Fucl B fadl 3R YD1 &1 el 3piagl | I fhaH i e
ISl 82 $© Sl 4 IR [T o 9uet onrepicl H sifee fap-t g1 ¢ | fh 39+ 1 &4 # U 3 U

I8 ;
<7fe fehdfl garg SgTet 1 grell el St 1 I8 3§ Wbl g 2 ™
S Tl 7 IR el <&, Tg IS bl g 17

In which stage of development are the children who answered that the flattened ball contained more clay ?

1. Formal operational stage
2. Preoperational stage
3. Sensori Motor stage
4. Concrete operational stage
1) 1
) 2
3) 3
(4) 4

d = fqpra 1 9 A U 5y sfgwir d g Srgi- SR faar ot fob wudi 7l | sifte faa-i fagi g

1. TAING Gihard® Tl
2. Ud-Gfh et 3awl

3. ddl IRP AT

4. 97l AichaureHD Sa=l




(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=46873] Question Description : psychology_psychology_set 1_english_q94
2[Option ID=46874]

3[Option ID=46875]
4[Option ID=46876]
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Read the given paragraph and answer the questions that follow:

An experimenter conducted a study on a group of children in order to find out their development level. In his
study he provided two clay balls and took their agreement that the two balls are of equal size. Then he changed
the shape of one ball to a flat shape in front of the children and asked which out of the two shapes containd more
clay. Few children responded that the flat shape contained more clay. Later he asked another question as follows:
"If an aeroplane is called an elephant, can it fly?" Few children answered "Yes it can fly".

fmferiRad mrerier &l ufew 9 wy & IR <G

U WRTddl A &= & Udh GHE BT eqa- [T dlid 34 [dbTy & WiR BT ydl a1 o Jeb | 30
ez H F9 fereb-it (21 1 <1 i off ofiR ar=eif b1 ggAfd o ol fab Sl 7ie 9H1H SR 31 31 fth 39+
Sl & G U T1E DI 3IBR deadbr Fuel DR a1 iR Uzl &1 aHi sfibiaal d 9 fgd sifdd -
ftlf'[%” o Tl 4 I e b Fuct sipld 7 i fHe-d g 8 | i 39 g U U sy

Hﬁﬁﬂﬂ%ﬂ]‘éwﬁaﬁwwaﬁwuﬁwm%w
PO Jdl 4 IR a1 gl 9g IS bl g I”

The theory underlining the above study is:

Psychodynamic theory
Social observational learning

. Cognitive development theory
Cognitive dynamic behaviour theory

1.
2.
3

9
(1)1
(2) 2
3) 3
(4) 4

SIudad g, (15 H, ¥ [y Rigid &1 ¥@iihd Bl ¢ 2

1. FHATIO® Rigid

2. AT Yol i

3. GYHIES fdhry Hgid

4. UJHTHSD TP OdeR Raid

(1)1
) 2
(3) 3
(4) 4

1[Option ID=46877] Question Description : psychology_psychology_set 1_english_q95
2[Option ID=46878]
3[Option ID=46879]
4[Option ID=46880]
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Read the following passage and answer the questions.

An experimenter conducted a study to see the effect of social support on well being. He recruited a group of
students from a school where he was working. Later he decided to see the role of gender on the relation between
social support and well being. He formulated a hypothesis taking all these variables into account. The hypothesis
was that the strength of the relationship between social support and well being would change when the gender
variable is included. After collecting the data, normal distribution of scores was confirmed. The result was not in
accordance with the hypothesis. Later the experimenter interpreted the result of the study.

{49 Tierier 1 ufdd 9 wRT 9. 9 & IR ST

U GGl = SR UR HHIRSD FgdT DI YHId ¢8H & (o0 U srea g | 9g o fqarea | &m
XAl U1, 3G d61 & $5 SEI B 3T & fore 1lf faan | a1e A I arfore TeaT AR 3R & |4
b G TR S-S B YHBT aa- b [0RT febarn | 38 31 UR =R1 ol &1 H ¥&d §U Uh GRSl bl
G a1 | IR 78 1 o SR 2R YedlT & o & Wiy Pl 2gdl SisX =R bl WHfd o3 9
gRafcd g1 SE | ildsi & GUEU & o1 WIkdich| & Y dcd $i P oI 715 | uRume gRbed-1 &
3% d gl 3T | 916 H YAl -1 ALY & TRUIH] &1 RS B |

What design was used in the above experiment?

1. Between Group Design
2. Within group design
3. Correlational design
4. Factorial design
1) 1
(2) 2
3) 3
(4) 4

Y YART H [hY Hiided ([So134) ST 3TN [6d1 /™l § 2

L. \31rd{ir4-(l\6 e (Between Group Design)
2. 3id: g YDy (@il sifide)
3. HEgHRTHSD HiHd
4. SgIUTETH! 3ifHHe
1) 1
) 2
(3) 3
(4) 4
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Sl. No.97
QBID:14097

Read the following passage and answer the questions.

An experimenter conducted a study to see the effect of social support on well being. He recruited a group of
students from a school where he was working. Later he decided to see the role of gender on the relation between
social support and well being. He formulated a hypothesis taking all these variables into account. The hypothesis
was that the strength of the relationship between social support and well being would change when the gender
variable is included. After collecting the data, normal distribution of scores was confirmed. The result was not in
accordance with the hypothesis. Later the experimenter interpreted the result of the study.

% i< 1 ufdd 9 UL 9. ¥ & IR I

T GGl = 3R UR YA FgdNT I YHIG S8 & (g U e fhar | g oy fqarea @ M
AT U1, 3G Gl & $ S B LT & (18 Yl [T | dle H I FHIS TediT 3R 3R & |l
& G TR SieX B YADI aa- D (AR foban | 38 3 UR =R1 &1 &4 H ¥@d §U U URB AT I
e 61 | TR« 7 2t o 3R 3R Yedl & did & W Bl 26 dl Siex =R &I JFHfed d3 9
giafcld g1 Sel | 3ilebsi & YUVl & a1 UKol & YA s Pi YfP &I 715 | GRUIH IRbe1 &
3{Ibd gl 31T | §16 H YDl | - & URUIH] 61 RS b |




‘What sampling was used in the study?

1. Quota sampling
2. Purposive sampling
3. Cluster sampling
4. Stratified sampling
1) 1
2) 2
3 3
(@) 4

A H fby avg o1 ufd=a foear mar 2

B EUGEIPIREA® REE]
2. Hidqeg gfd=g
3. =3 Ufcr=ae
4. TRd wfd=g
1) 1
(2) 2
3) 3
(4) 4
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Read the following passage and answer the questions.

An experimenter conducted a study to see the effect of social support on well being. He recruited a group of
students from a school where he was working. Later he decided to see the role of gender on the relation between
social support and well being. He formulated a hypothesis taking all these variables into account. The hypothesis
was that the strength of the relationship between social support and well being would change when the gender
variable is included. After collecting the data, normal distribution of scores was confirmed. The result was not in
accordance with the hypothesis. Later the experimenter interpreted the result of the study.

{9 Tierier &1 ufdd 9 URT 9. ¥ & IR ST

U GGl = SR UR YIRS FgdNT 1 YHIG SE & (10 U srea fhar | 9g o 9 | m
AT U1, 3G Gl & $ S| B LT & o181l {1 | a1e 3 I8 FHIiors JediT 3R AR & |4
& T TR S B YIAHT ¢ D 01 fohal | 3 37 UR =R1 1 &1 H 3@d §U U TRS AT Bl
TG (41 | URS A1 Ug Ul b 3RIY 3R UgdINT & did o Gra=l &1 Tl oie d- i JIHITAd B o
gRafdd g1 STl | Sifarst & YUl & 1 UIkdid! & ITHRT e @1 gfP &1 113 | uRum gReed- 1 &
3{IPd gl 31U | §1¢ H YDl | AL & URUIH] 61 RS B |

What type of variable was gender in the study?

1. Predictive Variable
2. Criterion variable
3. Mediation variable
4. Moderation variable
11
(2) 2
(3) 3
) 4

YA H o= (b dig Bl 41 2

1. URIKT (fsfaed) =R
2. Y (BTs T =R
3. ARl (HIfSTRA) TR
4. faHaT (\TSW®A) TR




(1) 1

2) 2

3) 3

4) 4
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Read the following passage and answer the questions.

An experimenter conducted a study to see the effect of social support on well being. He recruited a group of
students from a school where he was working. Later he decided to see the role of gender on the relation between
social support and well being. He formulated a hypothesis taking all these variables into account. The hypothesis
was that the strength of the relationship between social support and well being would change when the gender
variable is included. After collecting the data, normal distribution of scores was confirmed. The result was not in
accordance with the hypothesis. Later the experimenter interpreted the result of the study.

% i< 1 ufed 9 UL 9. ¥ & IR i

U GGl = 3R UR YA FgdNT 1 YHIG S8 & (18 U e fhar | g o faarea | m
A1 U1, 3G Gl & $ S| B LT & 18 el [T | a1e 3 I8 FHIiors JediT AR ARF & |4
& T TR SeX B YA aa- D (01T fhar | 38 39 UR =R1 &l &1 H 3@d §U U TR Bl
e 51 | TR U 2t & 3R 3R Yedl & did & W Bl 26 dl Sie =R & JHfed d3 9
giafcld g1 Sel | Sifdsi & YUV & a1 Ukl & JH s $i P oI 715 | GRUIH IRb-1 &
3{Ibd gl 31T | §1& H YAITbdl - 3 & URUIH] 61 RS B |

The interpretation of the result the experiment made was:
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Read the following passage and answer the questions.

An experimenter conducted a study to see the effect of social support on well being. He recruited a group of
students from a school where he was working. Later he decided to see the role of gender on the relation between
social support and well being. He formulated a hypothesis taking all these variables into account. The hypothesis
was that the strength of the relationship between social support and well being would change when the gender
variable is included. After collecting the data, normal distribution of scores was confirmed. The result was not in
accordance with the hypothesis. Later the experimenter interpreted the result of the study.

{49 Tierier 1 ufdd 9 wRT 9. 9 & IR ST

U GGl = SR UR HHIRSD FgdT DI YHId ¢8H & (o0 U srea g | 9g o fqarea | &m
XAl U1, 3G d61 & $5 SEI B 3T & fore 1lf faan | a1e A I arfore TeaT AR 3R & |4
b G TR S-S B YHBT aa- b [0RT febarn | 38 31 UR =R1 ol &1 H ¥&d §U Uh GRSl bl
G a1 | IR 78 1 o SR 2R YedlT & o & Wiy Pl 2gdl SisX =R bl WHfd o3 9
gRafcd g1 SE | ildsi & GUEU & o1 WIkdich| & Y dcd $i P oI 715 | uRume gRbed-1 &
3% d gl 3T | 916 H YAl -1 ALY & TRUIH] &1 RS B |

Which type of statistical analysis was used?

1. Simple linear regression
2. Biserial correlation
3. Multiple regression
4. Log linear correlation
1) 1
(2) 2
3) 3
(4) 4

S8 YT H o UPR BT WiRkere 1 fa2el o ygdd gai

1. TR YR Ul
2. fgafores ggaray
3. &g UfaHA
4. glejayd geur
(1) 1
(2) 2
3) 3
(4) 4
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